### File "d3_dipilev_to_pilev_in_re_basis";
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##H# restart;

deb:=X-> [seq(op(k,X),k=1..nops(X)-1)]; ##
summa:=X-> add(op(k,X),k=1..nops(X)); ##

heer:=proc(X): proc(p,q): if p+g<>add(op(k,X),k=1..nops(X)) then O
elif nops(X)=1 and p<op(1,X) then p*a[q]

elif nops(X)=2 and op(1,X)<= g and g<op(2,X) then +a[q]

elif nops(X)=2 and op(2,X)<= q and g<op(1,X) then -a[q]

else 0 fi end: end:

### rep:="rep": rep[]:=1: a:="a"t [seq(a[r]=-1/(1+)*(1+(-1)Ar)/2!, r=1..14)]; assign(%);

Rep:=proc(X):

if nops(X)=1 and op(X)=1 then +a[1]

elif nops(X)=1 and op(X)>1 then

+1/summa(X)*afop(-1,X)]

+1/summa(X)*add(rep[p]*heer(X)(p,op(X)-p),p=1..0p(X)-1)

elif nops(X)>1 and {op(X)} = {1} then 1/(nops(X))!*a[1]A(nops(X))

elif nops(X)>1 and {op(X)}<>{1} then

+1/summa(X)*rep[op(deb(X))]*alop(-1,X)]

+1/summa(X)*add(add( rep[seq(op(k,X),k=1..i-1),p,seq(op(k,X),k=i+1..nops(X))]*heer([op(i,X)])(p,op(i,X)-p),
p=1..0p(i,X)-1),i=1..nops(X))

+1/summa(X)*add(add( rep[seq(op(k,X),k=1..i-1),p,seq(op(k,X),k=i+2..nops(X))1*heer([op(i,X),op(i+1,X)]1)(p,op(i,X)+op(i+1,X)-p),
p=1..0p(i,X)+op(i+1,X)-1),i=1..nops(X)-1)

fi end:
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seropev2:= [ropev[2] = -1/6, ropev[1,1] = 0] : ##

seropev4:= [ropev[4] = 7/60, ropev[1,3] = 1/12, ropev[2,2] = 1/12, ropev[3,1] =-1/12, ropev[1,1,2] = 0,
ropev[1,2,1] = O, ropev[2,1,1] = O, ropev[1,1,1,1] = 0] : ##

seropev6:=

[ropev[6] = -31/126, ropev[1,5] =-2/9, ropev[2,4] =-11/72, ropev[3,3] = 0, ropev[4,2] = -5/36, ropev[5,1] = 2/9,
ropev[1,1,4] =-5/72, ropev[1,2,3] =-5/72, ropev[1,3,2] =-5/72, ropev[1,4,1] = 5/36, ropev[2,1,3] =-5/72,
ropev[2,2,2] =-5/72, ropev[2,3,1] = 5/36, ropev[3,1,2] = 5/36, ropev([3,2,1] =-5/72, ropev[4,1,1] =-5/72,
ropev[1,1,1,3] = 0, ropev[1,1,2,2] = 0, ropev[1,1,3,1] = O, ropev[1,2,1,2] = 0, ropev[1,2,2,1] = 0, ropev[1,3,1,1] = 0,
ropev[2,1,1,2] = O, ropev[2,1,2,1] = O, ropev[2,2,1,1] = O, ropev[3,1,1,1] = O, ropev[1,1,1,1,2] = O,

ropev[1,1,1,2,1] = O, ropev[1,1,2,1,1] = O, ropev[1,2,1,1,1] = O, ropev[2,1,1,1,1] = O, ropev[1,1,1,1,1,1] = 0] : ##

seropev8:=

[ropev[8] = 127/120, ropev[1,7] = 41/40, ropev[2,6] = 47/80, ropev[3,5] = 217/1080, ropev[4,4] = 343/720, ropev[5,3] =-217/1080,
ropev[6,2] = 1211/2160, ropev[7,1] = -41/40, ropev[1,1,6] = 7/16, ropev[1,2,5] = 77/216, ropev[1,3,4] = 119/432,
ropev[1,4,3] = 0, ropev[1,5,2] = 175/432, ropev[1,6,1] = -7/8, ropev[2,1,5] = 119/432, ropev[2,2,4] = 7/36,

ropev[2,3,3] = -35/432, ropev[2,4,2] = 35/108, ropev[2,5,1] =-91/144, ropev[3,1,4] =-119/432, ropev[3,2,3] = 35/216,
ropev[3,3,2] = -35/432, ropev[3,4,1] = O, ropev[4,1,3] = 175/432, ropev[4,2,2] = 35/216, ropev[4,3,1] =-175/432,
ropev[5,1,2] = -329/432, ropev([5,2,1] = 77/216, ropev[6,1,1] = 7/16, ropev[1,1,1,5] = 35/432, ropev([1,1,2,4] = 35/432,
ropev[1,1,3,3] = 35/432, ropev[1,1,4,2] = 35/432, ropev[1,1,5,1] = -35/144, ropev[1,2,1,4] = 35/432,

ropev[1,2,2,3] = 35/432, ropev[1,2,3,2] = 35/432, ropev[1,2,4,1] = -35/144, ropev[1,3,1,3] = 35/432,

ropev[1,3,2,2] = 35/432, ropev[1,3,3,1] = -35/144, ropev[1,4,1,2] =-175/432, ropev([1,4,2,1] = 35/144,

ropev[1,5,1,1] = 35/144, ropev[2,1,1,4] = 35/432, ropev[2,1,2,3] = 35/432, ropev[2,1,3,2] = 35/432,

ropev[2,1,4,1] = -35/144, ropev[2,2,1,3] = 35/432, ropev[2,2,2,2] = 35/432, ropev[2,2,3,1] = -35/144,

ropev([2,3,1,2] =-175/432, ropev[2,3,2,1] = 35/144, ropev([2,4,1,1] = 35/144, ropev[3,1,1,3] = -35/144, ropev[3,1,2,2] = -35/144,
ropev[3,1,3,1] = 175/432, ropev[3,2,1,2] = 35/144, ropev[3,2,2,1] = -35/432, ropev[3,3,1,1] = -35/432,

ropev[4,1,1,2] = 35/144, ropev[4,1,2,1] = -35/432, ropev[4,2,1,1] = -35/432, ropev[5,1,1,1] = -35/432,

ropev[1,1,1,1,4] = 0, ropev[1,1,1,2,3] = O, ropev[1,1,1,3,2] = O, ropev[1,1,1,4,1] = O, ropev([1,1,2,1,3] = O,
ropev[1,1,2,2,2] = 0, ropev[1,1,2,3,1] = O, ropev[1,1,3,1,2] = O, ropev[1,1,3,2,1] = O, ropev([1,1,4,1,1] = O,
ropev[1,2,1,1,3] = 0, ropev[1,2,1,2,2] = O, ropev[1,2,1,3,1] = O, ropev[1,2,2,1,2] = O, ropev[1,2,2,2,1] = O,
ropev[1,2,3,1,1] = 0, ropev[1,3,1,1,2] = O, ropev[1,3,1,2,1] = O, ropev[1,3,2,1,1] = O, ropev[1,4,1,1,1] = O,
ropev[2,1,1,1,3] = 0, ropev[2,1,1,2,2] = O, ropev[2,1,1,3,1] = O, ropev[2,1,2,1,2] = O, ropev([2,1,2,2,1] = O,
ropev[2,1,3,1,1] = 0, ropev[2,2,1,1,2] = O, ropev[2,2,1,2,1] = O, ropev[2,2,2,1,1] = O, ropev([2,3,1,1,1] = O,
ropev[3,1,1,1,2] = 0, ropev[3,1,1,2,1] = O, ropev[3,1,2,1,1] = O, ropev[3,2,1,1,1] = O, ropev[4,1,1,1,1] = O,
ropev[1,1,1,1,1,3] = 0, ropev([1,1,1,1,2,2] = O, ropev([1,1,1,1,3,1] = O, ropev[1,1,1,2,1,2] = O, ropev[1,1,1,2,2,1] = O,
ropev[1,1,1,3,1,1] = O, ropev[1,1,2,1,1,2] = O, ropev[1,1,2,1,2,1] = O, ropev[1,1,2,2,1,1] = O, ropev[1,1,3,1,1,1] = O
ropev[1,2,1,1,1,2] = 0O, ropev([1,2,1,1,2,1] = O, ropev[1,2,1,2,1,1] = O, ropev[1,2,2,1,1,1]1 = O,

ropev[1,3,1,1,1,1] = 0, ropev([2,1,1,1,1,2] = O, ropev([2,1,1,1,2,1] = O, ropev[2,1,1,2,1,1] = O, ropev[2,1,2,1,1,1] = O,



ropev[2,2,1,1,1,1] = 0O, ropev[3,1,1,1,1,1] = O, ropev[1,1,1,1,1,1,2] = O, ropev[1,1,1,1,1,2,1] = O,
ropev[1,1,1,1,2,1,1] = O, ropev[1,1,1,2,1,1,1] = O, ropev[1,1,2,1,1,1,1] = O, ropev[1,2,1,1,1,1,1] = O,
ropev[2,1,1,1,1,1,1] = O, ropev[1,1,1,1,1,1,1,1] = 0] : ##

seropev10:=
[ropev[10] =-511/66, ropev[1,9] = -23/3, ropev[2,8] = -97/24, ropev[3,7] = -19/9, ropev[4,6] = -133/48, ropev[5,5] = 0,
ropev[6,4] = -469/144, ropev[7,3] = 19/9, ropev[8,2] = -187/48, ropev[9,1] = 23/3, ropev[1,1,8] = -29/8, ropev[1,2,7] = -\
191/72, ropev[1,3,6] = -277/144, ropev[1,4,5] = -49/48, ropev([1,5,4] =-161/72, ropev[1,6,3] = 91/72, ropev[1,7,2] =-161/
48, ropev[1,8,1] = 29/4, ropev[2,1,7] =-121/72, ropev[2,2,6] = -103/96, ropev[2,3,5] = -7/24, ropev[2,4,4] = -469/288,
ropev[2,5,3] = 91/72, ropev[2,6,2] =-217/96, ropev[2,7,1] = 13/3, ropev[3,1,6] = 95/144, ropev[3,2,5] = -35/36, ropev[3,3,
4] = 35/144, ropev([3,4,3] = -35/72, ropev[3,5,2] = -35/144, ropev[3,6,1] = 91/72, ropev[4,1,5] = -35/16, ropev[4,2,4] = -35
/72, ropev([4,3,3] = 35/144, ropev[4,4,2] = -35/24, ropev[4,5,1] = 77/24, ropev[5,1,4] = 469/144, ropev[5,2,3] = -35/36,
ropev[5,3,2] = 175/144, ropev[5,4,1] = -49/48, ropev[6,1,3] = -175/48, ropev[6,2,2] = -35/36, ropev([6,3,1] = 343/144, ropev
[7,1,2] = 865/144, ropev[7,2,1] =-191/72, ropev[8,1,1] = -29/8, ropev[1,1,1,7] = -35/36, ropev([1,1,2,6] = -245/288, ropev[
1,1,3,5] = -35/48, ropev[1,1,4,4] = -175/288, ropev([1,1,5,3] = 0, ropev[1,1,6,2] = -35/32, ropev[1,1,7,1] = 35/12, ropev[1,
2,1,6] =-35/48, ropev[1,2,2,5] =-175/288, ropev[1,2,3,4] = -35/72, ropev[1,2,4,3] = 35/288, ropev[1,2,5,2] = -35/36,
ropev[1,2,6,1] = 175/72, ropev[1,3,1,5] = -35/72, ropev[1,3,2,4] = -35/96, ropev[1,3,3,3] = 35/144, ropev[1,3,4,2] = -245/
288, ropev[1,3,5,1] = 35/18, ropev[1,4,1,4] = 175/144, ropev[1,4,2,3] = -245/288, ropev[1,4,3,2] = 35/72, ropev[1,4,4,1] =
0, ropev[1,5,1,3] =-35/18, ropev[1,5,2,2] =-175/288, ropev[1,5,3,1] = 35/18, ropev[1,6,1,2] = 665/144, ropev[1,6,2,1] = -\
175/72, ropev[1,7,1,1] = -35/12, ropev[2,1,1,6] = -175/288, ropev[2,1,2,5] = -35/72, ropev([2,1,3,4] = -35/96, ropev[2,1,4,3
1=35/144, ropev[2,1,5,2] = -245/288, ropev[2,1,6,1] = 35/18, ropev[2,2,1,5] = -35/96, ropev([2,2,2,4] = -35/144, ropev[2,2
,3,3] = 35/96, ropev[2,2,4,2] = -35/48, ropev([2,2,5,1] = 35/24, ropev([2,3,1,4] = 385/288, ropev(2,3,2,3] = -35/48, ropev[2,
3,3,2] = 175/288, ropev[2,3,4,1] = -35/72, ropev[2,4,1,3] = -175/96, ropev[2,4,2,2] = -35/72, ropev[2,4,3,1] = 35/24, ropev
[2,5,1,2] = 1015/288, ropev[2,5,2,1] = -245/144, ropev[2,6,1,1] = -35/16, ropev[3,1,1,5] = 175/144, ropev[3,1,2,4] = 35/48,
ropev[3,1,3,3] = -35/48, ropev[3,1,4,2] = 175/144, ropev[3,1,5,1] = -35/18, ropev([3,2,1,4] = -175/144, ropev[3,2,2,3] =0,
ropev[3,2,3,2] =-35/72, ropev[3,2,4,1] = 245/288, ropev[3,3,1,3] = 35/48, ropev[3,3,2,2] = 35/144, ropev[3,3,3,1] =-35/
144, ropev(3,4,1,2] = -35/144, ropev[3,4,2,1] = -35/288, ropev[3,5,1,1] = O, ropev[4,1,1,4] = -245/144, ropev[4,1,2,3] = -\
35/72, ropev[4,1,3,2] = -35/36, ropev[4,1,4,1] = 35/16, ropev[4,2,1,3] = 35/144, ropev[4,2,2,2] = -35/144, ropev[4,2,3,1] =
35/32, ropev([4,3,1,2] = 245/144, ropev([4,3,2,1] = -175/144, ropev[4,4,1,1] = -35/32, ropev[5,1,1,3] = 385/144, ropev[5,1,2,
2] =35/16, ropev[5,1,3,1] = -245/72, ropev[5,2,1,2] = -35/16, ropev[5,2,2,1] = 175/288, ropev[5,3,1,1] = 35/48, ropev[6,1,
1,2] = -385/144, ropev[6,1,2,1] = 35/48, ropev([6,2,1,1] = 245/288, ropev[7,1,1,1] = 35/36, ropev[1,1,1,1,6] = -35/288,
ropev[1,1,1,2,5] = -35/288, ropev[1,1,1,3,4] = -35/288, ropev[1,1,1,4,3] = -35/288, ropev[1,1,1,5,2] = -35/288, ropev[1,1,1
,6,1]=35/72, ropev[1,1,2,1,5] = -35/288, ropev[1,1,2,2,4] = -35/288, ropev[1,1,2,3,3] = -35/288, ropev[1,1,2,4,2] = -35/
288, ropev[1,1,2,5,1] = 35/72, ropev[1,1,3,1,4] = -35/288, ropev[1,1,3,2,3] = -35/288, ropev[1,1,3,3,2] = -35/288, ropev|[1,
1,3,4,1] = 35/72, ropev[1,1,4,1,3] = -35/288, ropev[1,1,4,2,2] = -35/288, ropev[1,1,4,3,1] = 35/72, ropev[1,1,5,1,2] = 35/
32, ropev[1,1,5,2,1] = -35/48, ropev([1,1,6,1,1] = -35/48, ropev[1,2,1,1,5] = -35/288, ropev[1,2,1,2,4] = -35/288, ropev[1,2
,1,3,3]1 =-35/288, ropev[1,2,1,4,2] = -35/288, ropev[1,2,1,5,1] = 35/72, ropev[1,2,2,1,4] = -35/288, ropev[1,2,2,2,3] = -35
/288, ropev[1,2,2,3,2] =-35/288, ropev[1,2,2,4,1] = 35/72, ropev[1,2,3,1,3] = -35/288, ropev[1,2,3,2,2] = -35/288, ropev[1
,2,3,3,11 = 35/72, ropev[1,2,4,1,2] = 35/32, ropev[1,2,4,2,1] = -35/48, ropev[1,2,5,1,1] = -35/48, ropev[1,3,1,1,4] = -35/
288, ropev[1,3,1,2,3] = -35/288, ropev[1,3,1,3,2] = -35/288, ropev[1,3,1,4,1] = 35/72, ropev[1,3,2,1,3] = -35/288, ropev[1,
3,2,2,2] = -35/288, ropev[1,3,2,3,1] = 35/72, ropev[1,3,3,1,2] = 35/32, ropev[1,3,3,2,1] = -35/48, ropev[1,3,4,1,1] = -35/
48, ropev[1,4,1,1,3] = 35/32, ropev[1,4,1,2,2] = 35/32, ropev[1,4,1,3,1] = -35/18, ropev[1,4,2,1,2] = -385/288, ropev[1,4,2
,2,11=35/72, ropev[1,4,3,1,1] = 35/72, ropev[1,5,1,1,2] = -385/288, ropev[1,5,1,2,1] = 35/72, ropev[1,5,2,1,1] = 35/72,
ropev[1,6,1,1,1] = 35/72, ropev([2,1,1,1,5] = -35/288, ropev([2,1,1,2,4] = -35/288, ropev([2,1,1,3,3] = -35/288, ropev([2,1,1,4
,2] =-35/288, ropev[2,1,1,5,1] = 35/72, ropev[2,1,2,1,4] = -35/288, ropev([2,1,2,2,3] = -35/288, ropev|[2,1,2,3,2] = -35/288
, ropev([2,1,2,4,1] = 35/72, ropev[2,1,3,1,3] = -35/288, ropev[2,1,3,2,2] = -35/288, ropev[2,1,3,3,1] = 35/72, ropev[2,1,4,1
,2] = 35/32, ropev[2,1,4,2,1] = -35/48, ropev[2,1,5,1,1] = -35/48, ropev[2,2,1,1,4] = -35/288, ropev[2,2,1,2,3] = -35/288,
ropev[2,2,1,3,2] = -35/288, ropev[2,2,1,4,1] = 35/72, ropev[2,2,2,1,3] = -35/288, ropev|[2,2,2,2,2] = -35/288, ropev|[2,2,2,3
,11=35/72, ropev[2,2,3,1,2] = 35/32, ropev[2,2,3,2,1] = -35/48, ropev([2,2,4,1,1] = -35/48, ropev[2,3,1,1,3] = 35/32,
ropev[2,3,1,2,2] = 35/32, ropev[2,3,1,3,1] = -35/18, ropev[2,3,2,1,2] = -385/288, ropev[2,3,2,2,1] = 35/72, ropev[2,3,3,1,1
1=35/72, ropev[2,4,1,1,2] = -385/288, ropev[2,4,1,2,1] = 35/72, ropev([2,4,2,1,1] = 35/72, ropev[2,5,1,1,1] = 35/72, ropev
[3,1,1,1,4] = 35/72, ropev[3,1,1,2,3] = 35/72, ropev[3,1,1,3,2] = 35/72, ropev[3,1,1,4,1] = -385/288, ropev[3,1,2,1,3] = 35
/72, ropev(3,1,2,2,2] = 35/72, ropev[3,1,2,3,1] = -385/288, ropev[3,1,3,1,2] = -35/18, ropev[3,1,3,2,1] = 35/32, ropev[3,1,
4,1,1] = 35/32, ropev[3,2,1,1,3] = -35/48, ropev[3,2,1,2,2] = -35/48, ropev[3,2,1,3,1] = 35/32, ropev[3,2,2,1,2] = 35/72,
ropev[3,2,2,2,1] = -35/288, ropev[3,2,3,1,1] = -35/288, ropev[3,3,1,1,2] = 35/72, ropev[3,3,1,2,1] = -35/288, ropev[3,3,2,1
,11 =-35/288, ropev([3,4,1,1,1] = -35/288, ropev[4,1,1,1,3] = -35/48, ropev[4,1,1,2,2] = -35/48, ropev[4,1,1,3,1] = 35/32,
ropev[4,1,2,1,2] = 35/72, ropev[4,1,2,2,1] = -35/288, ropev[4,1,3,1,1] = -35/288, ropev[4,2,1,1,2] = 35/72, ropev[4,2,1,2,1
]1=-35/288, ropev[4,2,2,1,1] = -35/288, ropev[4,3,1,1,1] = -35/288, ropev[5,1,1,1,2] = 35/72, ropev[5,1,1,2,1] = -35/288,
ropev[5,1,2,1,1] = -35/288, ropev([5,2,1,1,1] = -35/288, ropev[6,1,1,1,1] = -35/288, ropev[1,1,1,1,1,5] = O, ropev[1,1,1,1,2
,4]1 =0, ropev[1,1,1,1,3,3] = O, ropev([1,1,1,1,4,2] = O, ropev[1,1,1,1,5,1] = O, ropev[1,1,1,2,1,4] = O, ropev[1,1,1,2,2,3]
=0, ropev[1,1,1,2,3,2] = O, ropev[1,1,1,2,4,1] = O, ropev[1,1,1,3,1,3] = O, ropev[1,1,1,3,2,2] = O, ropev[1,1,1,3,3,1] =0
, ropev([1,1,1,4,1,2] = 0O, ropev[1,1,1,4,2,1] = O, ropev[1,1,1,5,1,1] = O, ropev[1,1,2,1,1,4] = O, ropev([1,1,2,1,2,3] = O,
ropev[1,1,2,1,3,2] = 0, ropev[1,1,2,1,4,1] = O, ropev[1,1,2,2,1,3] = O, ropev[1,1,2,2,2,2] = O, ropev[1,1,2,2,3,1] = O,
ropev[1,1,2,3,1,2] = 0, ropev[1,1,2,3,2,1] = O, ropev[1,1,2,4,1,1] = O, ropev[1,1,3,1,1,3] = 0, ropev[1,1,3,1,2,2] = O,
ropev[1,1,3,1,3,1] = 0, ropev[1,1,3,2,1,2] = O, ropev[1,1,3,2,2,1] = O, ropev[1,1,3,3,1,1] = O, ropev[1,1,4,1,1,2] = O,
ropev[1,1,4,1,2,1] = O, ropev[1,1,4,2,1,1] = O, ropev[1,1,5,1,1,1] = O, ropev[1,2,1,1,1,4] = 0, ropev[1,2,1,1,2,3] = O,
ropev[1,2,1,1,3,2] = 0, ropev[1,2,1,1,4,1] = O, ropev[1,2,1,2,1,3] = O, ropev[1,2,1,2,2,2] = 0, ropev[1,2,1,2,3,1] = O,
ropev[1,2,1,3,1,2] = 0, ropev[1,2,1,3,2,1] = O, ropev[1,2,1,4,1,1] = O, ropev[1,2,2,1,1,3] = 0, ropev[1,2,2,1,2,2] = O,
ropev[1,2,2,1,3,1] = 0, ropev[1,2,2,2,1,2] = O, ropev[1,2,2,2,2,1] = 0, ropev[1,2,2,3,1,1] = 0, ropev[1,2,3,1,1,2] = O,
ropev[1,2,3,1,2,1] = 0, ropev[1,2,3,2,1,1] = O, ropev[1,2,4,1,1,1] = O, ropev[1,3,1,1,1,3] = O, ropev[1,3,1,1,2,2] = O,
ropev[1,3,1,1,3,1] = 0, ropev[1,3,1,2,1,2] = O, ropev[1,3,1,2,2,1] = O, ropev[1,3,1,3,1,1] = O, ropev[1,3,2,1,1,2] = O,
ropev[1,3,2,1,2,1] = 0, ropev[1,3,2,2,1,1] = 0O, ropev[1,3,3,1,1,1] = O, ropev[1,4,1,1,1,2] = O, ropev[1,4,1,1,2,1] = O,

1=0,

1=0,

1=0,

1=0,

1=0,

1=0,

1=0,

ropev[1,4,1,2,1,1] = O, ropev[1,4,2,1,1,1] = O, ropev[1,5,1,1,1,1 ropev[2,1,1,1,1,4] = O, ropev[2,1,1,1,2,3] = O,
ropev[2,1,1,1,3,2] = O, ropev([2,1,1,1,4,1] = O, ropev[2,1,1,2,1,3 ropev[2,1,1,2,2,2] = O, ropev[2,1,1,2,3,1] = O,
ropev[2,1,1,3,1,2] = O, ropev([2,1,1,3,2,1] = O, ropev[2,1,1,4,1,1 ropev[2,1,2,1,1,3] = O, ropev([2,1,2,1,2,2] = O,
ropev[2,1,2,1,3,1] = 0, ropev([2,1,2,2,1,2] = O, ropev[2,1,2,2,2,1 ropev[2,1,2,3,1,1] = O, ropev([2,1,3,1,1,2] = O,
ropev[2,1,3,1,2,1] = 0, ropev([2,1,3,2,1,1] = O, ropev[2,1,4,1,1,1 ropev[2,2,1,1,1,3] = 0, ropev([2,2,1,1,2,2] = O,
ropev[2,2,1,1,3,1] = 0, ropev([2,2,1,2,1,2] = O, ropev[2,2,1,2,2,1 ropev[2,2,1,3,1,1] = O, ropev([2,2,2,1,1,2] = O,
ropev[2,2,2,1,2,1] = 0, ropev([2,2,2,2,1,1] = 0O, ropev[2,2,3,1,1,1 ropev[2,3,1,1,1,2] = 0, ropev([2,3,1,1,2,1] = O,



ropev[2,3,1,2,1,1] = 0, ropev([2,3,2,1,1,1] = O, ropev([2,4,1,1,1,1] = O, ropev[3,1,1,1,1,3] = O, ropev[3,1,1,1,2,2] = O,
ropev[3,1,1,1,3,1] = 0, ropev[3,1,1,2,1,2] = O, ropev[3,1,1,2,2,1] = 0, ropev[3,1,1,3,1,1] = 0, ropev[3,1,2,1,1,2] = O,
ropev[3,1,2,1,2,1] = 0, ropev[3,1,2,2,1,1] = 0O, ropev[3,1,3,1,1,1] = 0, ropev[3,2,1,1,1,2] = 0, ropev[3,2,1,1,2,1] = O,
ropev[3,2,1,2,1,1] = 0, ropev[3,2,2,1,1,1] = O, ropev[3,3,1,1,1,1] = O, ropev[4,1,1,1,1,2] = O, ropev[4,1,1,1,2,1] = O,
ropev[4,1,1,2,1,1] = 0, ropev([4,1,2,1,1,1] = O, ropev([4,2,1,1,1,1] = O, ropev[5,1,1,1,1,1] = O, ropev[1,1,1,1,1,1,4] = O,
ropev[1,1,1,1,1,2,3] = 0, ropev[1,1,1,1,1,3,2] = O, ropev([1,1,1,1,1,4,1] = O, ropev[1,1,1,1,2,1,3] = O, ropev[1,1,1,1,2,2,2
1=0, ropev[1,1,1,1,2,3,1] = O, ropev[1,1,1,1,3,1,2] = O, ropev[1,1,1,1,3,2,1] = O, ropev[1,1,1,1,4,1,1] = O, ropev[1,1,1,
2,1,1,31 = 0, ropev[1,1,1,2,1,2,2] = O, ropev([1,1,1,2,1,3,1] = O, ropev[1,1,1,2,2,1,2] = O, ropev[1,1,1,2,2,2,1] = O, ropev
[1,1,1,2,3,1,1] = O, ropev[1,1,1,3,1,1,2] = O, ropev[1,1,1,3,1,2,1] = O, ropev[1,1,1,3,2,1,1] = O, ropev[1,1,1,4,1,1,1] =0
, ropev([1,1,2,1,1,1,3] = 0, ropev[1,1,2,1,1,2,2] = O, ropev[1,1,2,1,1,3,1] = O, ropev[1,1,2,1,2,1,2] = O, ropev[1,1,2,1,2,2
,11=0, ropev[1,1,2,1,3,1,1] = O, ropev[1,1,2,2,1,1,2] = O, ropev([1,1,2,2,1,2,1] = O, ropev[1,1,2,2,2,1,1] = O, ropev[1,1,
2,3,1,1,11 = 0, ropev[1,1,3,1,1,1,2] = O, ropev[1,1,3,1,1,2,1] = O, ropev[1,1,3,1,2,1,1] = O, ropev[1,1,3,2,1,1,1] = O,
ropev[1,1,4,1,1,1,1] = 0, ropev[1,2,1,1,1,1,3] = O, ropev[1,2,1,1,1,2,2] = O, ropev[1,2,1,1,1,3,1] = O, ropev[1,2,1,1,2,1,2
1=0, ropev[1,2,1,1,2,2,1] = O, ropev[1,2,1,1,3,1,1] = O, ropev[1,2,1,2,1,1,2] = O, ropev[1,2,1,2,1,2,1] = O, ropev[1,2,1,
2,2,1,11 = 0, ropev[1,2,1,3,1,1,1] = 0O, ropev[1,2,2,1,1,1,2] = 0, ropev[1,2,2,1,1,2,1] = O, ropev[1,2,2,1,2,1,1] = O, ropev
[1,2,2,2,1,1,1] = O, ropev[1,2,3,1,1,1,1] = O, ropev[1,3,1,1,1,1,2] = O, ropev[1,3,1,1,1,2,1] = O, ropev[1,3,1,1,2,1,1] = 0
, ropev([1,3,1,2,1,1,1] = 0, ropev[1,3,2,1,1,1,1] = O, ropev[1,4,1,1,1,1,1] = O, ropev[2,1,1,1,1,1,3] = O, ropev[2,1,1,1,1,2
,2] = 0, ropev[2,1,1,1,1,3,1] = O, ropev[2,1,1,1,2,1,2] = O, ropev([2,1,1,1,2,2,1] = O, ropev[2,1,1,1,3,1,1] = O, ropev[2,1,
1,2,1,1,2] = 0, ropev[2,1,1,2,1,2,1] = O, ropev[2,1,1,2,2,1,1] = O, ropev[2,1,1,3,1,1,1] = O, ropev[2,1,2,1,1,1,2] = O,
ropev[2,1,2,1,1,2,1] = 0, ropev[2,1,2,1,2,1,1] = O, ropev([2,1,2,2,1,1,1] = O, ropev[2,1,3,1,1,1,1] = O, ropev[2,2,1,1,1,1,2
1=0, ropev[2,2,1,1,1,2,1] = 0O, ropev([2,2,1,1,2,1,1] = O, ropev[2,2,1,2,1,1,1] = O, ropev([2,2,2,1,1,1,1] = 0, ropev[2,3,1,
1,1,1,1] = 0, ropev[3,1,1,1,1,1,2] = O, ropev[3,1,1,1,1,2,1] = O, ropev[3,1,1,1,2,1,1] = O, ropev[3,1,1,2,1,1,1] = O, ropev
[3,1,2,1,1,1,1] = O, ropev[3,2,1,1,1,1,1] = O, ropev[4,1,1,1,1,1,1] = O, ropev[1,1,1,1,1,1,1,3] = O, ropev[1,1,1,1,1,1,2,2]
=0, ropev[1,1,1,1,1,1,3,1] = O, ropev([1,1,1,1,1,2,1,2] = O, ropev[1,1,1,1,1,2,2,1] = O, ropev[1,1,1,1,1,3,1,1] = O, ropev[
1,1,1,1,2,1,1,2] = 0, ropev[1,1,1,1,2,1,2,1] = O, ropev([1,1,1,1,2,2,1,1] = O, ropev[1,1,1,1,3,1,1,1] = O, ropev[1,1,1,2,1,1
,1,2] = 0, ropev([1,1,1,2,1,1,2,1] = O, ropev[1,1,1,2,1,2,1,1] = O, ropev([1,1,1,2,2,1,1,1] = O, ropev[1,1,1,3,1,1,1,1] = O,
ropev[1,1,2,1,1,1,1,2] = O, ropev[1,1,2,1,1,1,2,1] = O, ropev[1,1,2,1,1,2,1,1] = O, ropev[1,1,2,1,2,1,1,1] = O, ropev[1,1,2
,2,1,1,1,11 = 0, ropev[1,1,3,1,1,1,1,1] = 0, ropev[1,2,1,1,1,1,1,2] = O, ropev[1,2,1,1,1,1,2,1] = O, ropev[1,2,1,1,1,2,1,1]
=0, ropev[1,2,1,1,2,1,1,1] = O, ropev[1,2,1,2,1,1,1,1] = O, ropev[1,2,2,1,1,1,1,1] = O, ropev[1,3,1,1,1,1,1,1] = O, ropev[
2,1,1,1,1,1,1,2] = O, ropev([2,1,1,1,1,1,2,1] = O, ropev([2,1,1,1,1,2,1,1] = O, ropev([2,1,1,1,2,1,1,1] = O, ropev([2,1,1,2,1,1
,1,1]1 = 0, ropev([2,1,2,1,1,1,1,1] = O, ropev([2,2,1,1,1,1,1,1] = O, ropev(3,1,1,1,1,1,1,1] = O, ropev([1,1,1,1,1,1,1,1,2] = 0
, ropev([1,1,1,1,1,1,1,2,1] = O, ropev[1,1,1,1,1,1,2,1,1] = O, ropev[1,1,1,1,1,2,1,1,1] = O, ropev[1,1,1,1,2,1,1,1,1] = O,
ropev[1,1,1,2,1,1,1,1,1] = O, ropev[1,1,2,1,1,1,1,1,1] = O, ropev[1,2,1,1,1,1,1,1,1] = O, ropev([2,1,1,1,1,1,1,1,1] = O,
ropev(1,1,1,1,1,1,1,1,1,1] = 0] : ##

seropev12:=

[ropev[12] = 1414477/16380, ropev[1,11] = 108487/1260, ropev[2,10] = 2764/63, ropev[3,9] = 100859/3780, ropev[4,8] = 262823
/10080, ropev[5,7] = 10571/1260, ropev[6,6] = 10571/378, ropev[7,5] =-10571/1260, ropev[8,4] = 176627/5040, ropev[9,3] = -\
100859/3780, ropev[10,2] = 5203/126, ropev[11,1] = -108487/1260, ropev[1,1,10] = 7601/180, ropev[1,2,9] = 7909/270, ropev[1
,3,8] = 30613/1440, ropev[1,4,7] = 11099/720, ropev[1,5,6] = 20911/1080, ropev[1,6,5] = 77/360, ropev[1,7,4] = 10087/360,
ropev[1,8,3] =-23617/1080, ropev[1,9,2] = 2321/60, ropev[1,10,1] = -7601/90, ropev[2,1,9] = 8833/540, ropev[2,2,8] = 31031
/2880, ropev[2,3,7] = 2497/360, ropev[2,4,6] = 107503/8640, ropev[2,5,5] = -1463/360, ropev[2,6,4] = 54901/2880, ropev[2,7,
3]1=-2134/135, ropev[2,8,2] = 32989/1440, ropev[2,9,1] = -913/20, ropev([3,1,8] = 2629/4320, ropev[3,2,7] = 9581/1080,
ropev[3,3,6] = 77/360, ropev[3,4,5] = 13937/2160, ropev[3,5,4] = 539/270, ropev[3,6,3] = -77/180, ropev[3,7,2] = 1001/135,
ropev[3,8,1] =-23617/1080, ropev[4,1,7] = 22693/1440, ropev[4,2,6] = 20933/8640, ropev[4,3,5] = 4543/1440, ropev[4,4,4] =
26411/2880, ropev[4,5,3] = -41503/4320, ropev[4,6,2] = 5621/360, ropev[4,7,1] = -44891/1440, ropev[5,1,6] =-10571/540,
ropev[5,2,5] = 1463/180, ropev[5,3,4] = -6083/720, ropev[5,4,3] = 13937/2160, ropev[5,5,2] = -1463/360, ropev[5,6,1] = 77/
360, ropev[6,1,5] = 16709/540, ropev([6,2,4] = 13937/4320, ropev[6,3,3] = 77/360, ropev[6,4,2] = 116963/8640, ropev[6,5,1] =
-33649/1080, ropev[7,1,4] = -31273/720, ropev[7,2,3] = 9581/1080, ropev[7,3,2] = -5863/360, ropev[7,4,1] = 11099/720, ropev
[8,1,3] = 23903/540, ropev[8,2,2] = 28721/2880, ropev[8,3,1] = -8063/360, ropev[9,1,2] = -36707/540, ropev[9,2,1] = 7909/
270, ropev[10,1,1] = 7601/180, ropev[1,1,1,9] = 1397/108, ropev[1,1,2,8] = 671/64, ropev[1,1,3,7] = 407/48, ropev[1,1,4,6]
=11957/1728, ropev([1,1,5,5] = 77/18, ropev[1,1,6,4] = 5159/576, ropev([1,1,7,3] =-1309/216, ropev[1,1,8,2] = 4543/288,
ropev[1,1,9,1] =-1397/36, ropev[1,2,1,8] = 6941/864, ropev[1,2,2,7] = 5401/864, ropev[1,2,3,6] = 2123/432, ropev[1,2,4,5]
=539/216, ropev[1,2,5,4] = 6391/864, ropev[1,2,6,3] =-1309/216, ropev[1,2,7,2] = 5467/432, ropev[1,2,8,1] =-12529/432,
ropev[1,3,1,7] = 143/32, ropev[1,3,2,6] = 5797/1728, ropev[1,3,3,5] = 1001/864, ropev[1,3,4,4] = 3619/576, ropev[1,3,5,3] =
-539/96, ropev[1,3,6,2] = 539/54, ropev[1,3,7,1] = -2057/96, ropev[1,4,1,6] = -1705/432, ropev[1,4,2,5] = 1925/288, ropev[1
,4,3,4] = -385/144, ropev[1,4,4,3] = 385/108, ropev[1,4,5,2] = 385/288, ropev[1,4,6,1] = -2849/288, ropev[1,5,1,5] = 385/27

, ropev([1,5,2,4] = 385/216, ropev[1,5,3,3] =-385/216, ropev[1,5,4,2] = 16555/1728, ropev[1,5,5,1] =-616/27, ropev[1,6,1,4
1=-1001/36, ropev[1,6,2,3] = 4235/432, ropev[1,6,3,2] = -5005/432, ropev[1,6,4,1] = 2849/288, ropev[1,7,1,3] = 14245/432,
ropev[1,7,2,2] = 4235/576, ropev[1,7,3,1] = -1001/48, ropev[1,8,1,2] =-13079/216, ropev[1,8,2,1] = 12529/432, ropev[1,9,1,
1]1=1397/36, ropev[2,1,1,8] = 9647/1728, ropev[2,1,2,7] = 869/216, ropev[2,1,3,6] = 5027/1728, ropev([2,1,4,5] = 77/108,
ropev[2,1,5,4] = 10087/1728, ropev[2,1,6,3] =-1309/216, ropev[2,1,7,2] = 8239/864, ropev[2,1,8,1] = -4147/216, ropev([2,2,1
,71=473/192, ropev[2,2,2,6] = 2717/1728, ropev[2,2,3,5] = -77/192, ropev[2,2,4,4] = 2849/576, ropev[2,2,5,3] =-9317/1728

, ropev([2,2,6,2] = 4081/576, ropev[2,2,7,1] =-7337/576, ropev([2,3,1,6] =-9515/1728, ropev([2,3,2,5] = 385/72, ropev[2,3,3,

4] =-6545/1728, ropev([2,3,4,3] = 385/96, ropev[2,3,5,2] = -385/288, ropev[2,3,6,1] =-1001/432, ropev[2,4,1,5] = 22715/
1728, ropev([2,4,2,4] = 385/432, ropev[2,4,3,3] =-1925/1728, ropev([2,4,4,2] = 385/54, ropev[2,4,5,1] = -28259/1728, ropev[2
,5,1,4]1 =-13321/576, ropev([2,5,2,3] = 2695/432, ropev[2,5,3,2] = -2695/288, ropev[2,5,4,1] = 2849/288, ropev([2,6,1,3] =
43505/1728, ropev([2,6,2,2] = 385/72, ropev([2,6,3,1] =-22561/1728, ropev[2,7,1,2] = -33451/864, ropev[2,7,2,1] = 7139/432,
ropev[2,8,1,1] = 6941/288, ropev([3,1,1,7] = -5951/864, ropev[3,1,2,6] = -3817/1728, ropev[3,1,3,5] = 2849/864, ropev[3,1,4,
4] =-12397/1728, ropev[3,1,5,3] = 7931/864, ropev([3,1,6,2] =-1771/216, ropev[3,1,7,1] = 8041/864, ropev[3,2,1,6] = 935/
108, ropev(3,2,2,5] = 385/864, ropev|3,2,3,4] = 385/108, ropev[3,2,4,3] = -385/216, ropev[3,2,5,2] = 1925/432, ropev[3,2,6,

1] =-4235/432, ropev[3,3,1,5] = -2695/432, ropev[3,3,2,4] = -385/432, ropev[3,3,3,3] = 0, ropev[3,3,4,2] = -2695/1728,
ropev[3,3,5,1] = 385/216, ropev[3,4,1,4] = 1925/432, ropev[3,4,2,3] = 385/216, ropev[3,4,3,2] = 385/288, ropev[3,4,4,1] = -\
385/108, ropev[3,5,1,3] = -385/432, ropev[3,5,2,2] = -385/1728, ropev[3,5,3,1] = -385/144, ropev[3,6,1,2] = -847/108, ropev
[3,6,2,1] = 1309/216, ropev[3,7,1,1] = 1309/216, ropev[4,1,1,6] = 23045/1728, ropev[4,1,2,5] = 385/96, ropev[4,1,3,4] = 385
/64, ropev([4,1,4,3] =-1925/432, ropev[4,1,5,2] = 385/36, ropev[4,1,6,1] = -6545/288, ropev[4,2,1,5] = -6545/1728, ropev[4,
2,2,4] = 385/864, ropev([4,2,3,3] = -6545/1728, ropev[4,2,4,2] = 385/108, ropev[4,2,5,1] =-11935/1728, ropev[4,3,1,4] = -\
385/64, ropev[4,3,2,3] = 5005/864, ropev[4,3,3,2] = -385/108, ropev[4,3,4,1] = 385/144, ropev[4,4,1,3] = 18865/1728, ropev|[



4,4,2,2] = 385/144, ropev[4,4,3,1] =-1925/192, ropev([4,5,1,2] =-21791/864, ropev[4,5,2,1] = 2849/216, ropev[4,6,1,1] =
4697/288, ropev[5,1,1,5] =-616/27, ropev[5,1,2,4] = -10087/864, ropev[5,1,3,3] = 2695/432, ropev[5,1,4,2] = -30415/1728,
ropev[5,1,5,1] = 847/27, ropev[5,2,1,4] = 2387/144, ropev[5,2,2,3] = -385/864, ropev|[5,2,3,2] = 385/72, ropev[5,2,4,1] = -\
1925/288, ropev[5,3,1,3] = -5005/432, ropev[5,3,2,2] = -2695/576, ropev[5,3,3,1] = 385/54, ropev[5,4,1,2] = 4543/432, ropev
[5,4,2,1] = -539/216, ropev[5,5,1,1] = -77/18, ropev[6,1,1,4] = 23947/864, ropev[6,1,2,3] = 385/54, ropev[6,1,3,2] = 2695/
192, ropev([6,1,4,1] =-11935/432, ropev[6,2,1,3] = -2695/432, ropev[6,2,2,2] = 385/216, ropev[6,2,3,1] = -385/36, ropev[6,3
,1,2] =-23023/1728, ropev[6,3,2,1] = 4697/432, ropev[6,4,1,1] = 15323/1728, ropev[7,1,1,3] = -7645/216, ropev[7,1,2,2] = -\
15125/576, ropev[7,1,3,1] = 605/16, ropev[7,2,1,2] = 2717/108, ropev[7,2,2,1] = -5401/864, ropev[7,3,1,1] = -407/48, ropev[
8,1,1,2] = 59257/1728, ropev[8,1,2,1] = -6941/864, ropev[8,2,1,1] = -671/64, ropev[9,1,1,1] =-1397/108, ropev[1,1,1,1,8] =
4235/1728, ropev[1,1,1,2,7] = 1925/864, ropev[1,1,1,3,6] = 385/192, ropev[1,1,1,4,5] = 385/216, ropev[1,1,1,5,4] = 2695/
1728, ropev([1,1,1,6,3] = O, ropev([1,1,1,7,2] = 2695/864, ropev[1,1,1,8,1] = -4235/432, ropev[1,1,2,1,7] = 385/192, ropev[1,
1,2,2,6] = 385/216, ropev[1,1,2,3,5] = 2695/1728, ropev[1,1,2,4,4] = 385/288, ropev[1,1,2,5,3] = -385/1728, ropev[1,1,2,6,2
1=75005/1728, ropev[1,1,2,7,1] = -5005/5786, ropev[1,1,3,1,6] = 2695/1728, ropev[1,1,3,2,5] = 385/288, ropev[1,1,3,3,4] =
1925/1728, ropev[1,1,3,4,3] = -385/864, ropev[1,1,3,5,2] = 385/144, ropev[1,1,3,6,1] = -6545/864, ropev[1,1,4,1,5] = 1925/
1728, ropev[1,1,4,2,4] = 385/432, ropev[1,1,4,3,3] = -385/576, ropev[1,1,4,4,2] = 4235/1728, ropev[1,1,4,5,1] =-11165/1728
, ropev([1,1,5,1,4] = -2695/576, ropev[1,1,5,2,3] = 385/108, ropev[1,1,5,3,2] =-1925/864, ropev[1,1,5,4,1] = O, ropev[1,1,6
,1,31 =13475/1728, ropev([1,1,6,2,2] = 385/192, ropev[1,1,6,3,1] =-13475/1728, ropev[1,1,7,1,2] = -18865/864, ropev([1,1,7,
2,11 = 2695/216, ropev[1,1,8,1,1] = 4235/288, ropev[1,2,1,1,7] = 385/216, ropev[1,2,1,2,6] = 2695/1728, ropev[1,2,1,3,5] =
385/288, ropev[1,2,1,4,4] = 1925/1728, ropev[1,2,1,5,3] = -385/864, ropev[1,2,1,6,2] = 385/144, ropev[1,2,1,7,1] = -6545/
864, ropev[1,2,2,1,6] = 385/288, ropev[1,2,2,2,5] = 1925/1728, ropev[1,2,2,3,4] = 385/432, ropev[1,2,2,4,3] =-385/576,
ropev[1,2,2,5,2] = 4235/1728, ropev[1,2,2,6,1] =-11165/1728, ropev[1,2,3,1,5] = 385/432, ropev[1,2,3,2,4] = 385/576, ropev
[1,2,3,3,3] =-385/432, ropev[1,2,3,4,2] = 1925/864, ropev[1,2,3,5,1] = -385/72, ropev[1,2,4,1,4] = -4235/864, ropev[1,2,4,
2,31 =1925/576, ropev[1,2,4,3,2] = -4235/1728, ropev[1,2,4,4,1] = 1925/1728, ropev[1,2,5,1,3] = 6545/864, ropev[1,2,5,2,2]
= 385/216, ropev[1,2,5,3,1] = -1925/288, ropev[1,2,6,1,2] = -2695/144, ropev[1,2,6,2,1] = 8855/864, ropev[1,2,7,1,1] = 2695
/216, ropev[1,3,1,1,6] = 1925/1728, ropev[1,3,1,2,5] = 385/432, ropev[1,3,1,3,4] = 385/576, ropev[1,3,1,4,3] =-385/432,
ropev[1,3,1,5,2] = 1925/864, ropev[1,3,1,6,1] = -385/72, ropev[1,3,2,1,5] = 385/576, ropev[1,3,2,2,4] = 385/864, ropev[1,3,
2,3,3]1=-1925/1728, ropev[1,3,2,4,2] = 385/192, ropev[1,3,2,5,1] =-7315/1728, ropev[1,3,3,1,4] = -8855/1728, ropev[1,3,3,
2,3] = 2695/864, ropev[1,3,3,3,2] = -385/144, ropev[1,3,3,4,1] = 1925/864, ropev[1,3,4,1,3] = 4235/576, ropev[1,3,4,2,2] =
2695/1728, ropev[1,3,4,3,1] = -9625/1728, ropev[1,3,5,1,2] = -13475/864, ropev[1,3,5,2,1] = 385/48, ropev[1,3,6,1,1] = 8855
/864, ropev([1,4,1,1,5] = -6545/864, ropev[1,4,1,2,4] = -1925/432, ropev[1,4,1,3,3] = 385/72, ropev[1,4,1,4,2] =-14245/1728
, ropev[1,4,1,5,1] = 11165/864, ropev[1,4,2,1,4] = 2695/288, ropev[1,4,2,2,3] = -385/864, ropev[1,4,2,3,2] = 6545/1728,
ropev[1,4,2,4,1] =-1925/288, ropev[1,4,3,1,3] =-2695/432, ropev[1,4,3,2,2] = -385/192, ropev[1,4,3,3,1] = 1925/864, ropev
[1,4,4,1,2] = 1925/864, ropev([1,4,4,2,1] = 1925/1728, ropev[1,4,5,1,1] = O, ropev[1,5,1,1,4] = 2695/216, ropev[1,5,1,2,3] =
385/144, ropev[1,5,1,3,2] = 11935/1728, ropev[1,5,1,4,1] = -13475/864, ropev[1,5,2,1,3] = -2695/864, ropev[1,5,2,2,2] =
1925/1728, ropev[1,5,2,3,1] = -1925/288, ropev[1,5,3,1,2] = -6545/576, ropev[1,5,3,2,1] = 1925/216, ropev[1,5,4,1,1] =
13475/1728, ropev[1,6,1,1,3] =-5005/216, ropev|[1,6,1,2,2] =-32725/1728, ropev[1,6,1,3,1] = 8855/288, ropev[1,6,2,1,2] =
385/18, ropev[1,6,2,2,1] =-11165/1728, ropev([1,6,3,1,1] = -6545/864, ropev([1,7,1,1,2] = 44275/1728, ropev[1,7,1,2,1] = -\
6545/864, ropev[1,7,2,1,1] = -5005/576, ropev[1,8,1,1,1] = -4235/432, ropev[2,1,1,1,7] = 2695/1728, ropev[2,1,1,2,6] = 385/
288, ropev[2,1,1,3,5] = 1925/1728, ropev[2,1,1,4,4] = 385/432, ropev[2,1,1,5,3] = -385/576, ropev[2,1,1,6,2] = 4235/1728,
ropev[2,1,1,7,1]1 =-11165/1728, ropev[2,1,2,1,6] = 1925/1728, ropev[2,1,2,2,5] = 385/432, ropev([2,1,2,3,4] = 385/576, ropev
[2,1,2,4,3] = -385/432, ropev[2,1,2,5,2] = 1925/864, ropev[2,1,2,6,1] = -385/72, ropev[2,1,3,1,5] = 385/576, ropev[2,1,3,2,

4] = 385/864, ropev([2,1,3,3,3] =-1925/1728, ropev[2,1,3,4,2] = 385/192, ropev[2,1,3,5,1] =-7315/1728, ropev[2,1,4,1,4] =
-8855/1728, ropev[2,1,4,2,3] = 2695/864, ropev[2,1,4,3,2] = -385/144, ropev[2,1,4,4,1] = 1925/864, ropev[2,1,5,1,3] = 4235/
576, ropev([2,1,5,2,2] = 2695/1728, ropev[2,1,5,3,1] =-9625/1728, ropev[2,1,6,1,2] = -13475/864, ropev[2,1,6,2,1] = 385/48,
ropev[2,1,7,1,1] = 8855/864, ropev[2,2,1,1,6] = 385/432, ropev[2,2,1,2,5] = 385/576, ropev([2,2,1,3,4] = 385/864, ropev[2,2,
1,4,3]1 =-1925/1728, ropev[2,2,1,5,2] = 385/192, ropev[2,2,1,6,1] =-7315/1728, ropev([2,2,2,1,5] = 385/864, ropev[2,2,2,2,4
]1=385/1728, ropev[2,2,2,3,3] = -385/288, ropev[2,2,2,4,2] = 385/216, ropev([2,2,2,5,1] = -2695/864, ropev[2,2,3,1,4] = -\
385/72, ropev[2,2,3,2,3] = 5005/1728, ropev[2,2,3,3,2] = -5005/1728, ropev([2,2,3,4,1] = 1925/576, ropev[2,2,4,1,3] = 385/54
, ropev([2,2,4,2,2] = 385/288, ropev[2,2,4,3,1] =-1925/432, ropev[2,2,5,1,2] = -2695/216, ropev[2,2,5,2,1] = 5005/864,
ropev[2,2,6,1,1] = 385/48, ropev[2,3,1,1,5] = -13475/1728, ropev[2,3,1,2,4] = -2695/576, ropev[2,3,1,3,3] = 8855/1728,
ropev[2,3,1,4,2] = -7315/864, ropev[2,3,1,5,1] = 2695/192, ropev[2,3,2,1,4] = 15785/1728, ropev[2,3,2,2,3] = -385/576,
ropev[2,3,2,3,2] = 385/108, ropev([2,3,2,4,1] = -9625/1728, ropev[2,3,3,1,3] =-11165/1728, ropev[2,3,3,2,2] = -1925/864,
ropev[2,3,3,3,1] = 1925/576, ropev[2,3,4,1,2] = 385/72, ropev[2,3,4,2,1] = -1925/1728, ropev[2,3,5,1,1] = -1925/864, ropev[
2,4,1,1,4] = 21175/1728, ropev([2,4,1,2,3] = 4235/1728, ropev[2,4,1,3,2] = 1925/288, ropev[2,4,1,4,1] = -25025/1728, ropev[2
,4,2,1,31 =-1925/576, ropev([2,4,2,2,2] = 385/432, ropev[2,4,2,3,1] =-9625/1728, ropev[2,4,3,1,2] = -14245/1728, ropev[2,4
,3,2,11 = 1925/288, ropev[2,4,4,1,1] = 9625/1728, ropev[2,5,1,1,3] = -32725/1728, ropev[2,5,1,2,2] = -4235/288, ropev[2,5,1
,3,11 = 39655/1728, ropev[2,5,2,1,2] = 13475/864, ropev[2,5,2,2,1] =-7315/1728, ropev([2,5,3,1,1] = -385/72, ropev[2,6,1,1,
2] = 34265/1728, ropev[2,6,1,2,1] = -385/72, ropev[2,6,2,1,1] = -11165/1728, ropev[2,7,1,1,1] = -6545/864, ropev[3,1,1,1,6]
=-2695/576, ropev[3,1,1,2,5] =-385/108, ropev[3,1,1,3,4] = -4235/1728, ropev([3,1,1,4,3] = 385/144, ropev[3,1,1,5,2] = -\
2695/432, ropev([3,1,1,6,1] = 11165/864, ropev([3,1,2,1,5] =-4235/1728, ropev[3,1,2,2,4] = -385/288, ropev[3,1,2,3,3] = 6545
/1728, ropev[3,1,2,4,2] = -8855/1728, ropev[3,1,2,5,1] = 5005/576, ropev[3,1,3,1,4] = 18095/1728, ropev[3,1,3,2,3] = -385/
96, ropev[3,1,3,3,2] = 4235/864, ropev[3,1,3,4,1] = -2695/432, ropev[3,1,4,1,3] = -20405/1728, ropev[3,1,4,2,2] = -5005/
1728, ropev(3,1,4,3,1] = 4235/576, ropev[3,1,5,1,2] = 5005/288, ropev[3,1,5,2,1] = -385/54, ropev[3,1,6,1,1] = -8855/864,
ropev[3,2,1,1,5] = 1925/288, ropev[3,2,1,2,4] = 1925/432, ropev|[3,2,1,3,3] = -385/216, ropev[3,2,1,4,2] = 385/64, ropev[3,2
,1,5,11 = -5005/432, ropev[3,2,2,1,4] = -2695/864, ropev([3,2,2,2,3] = 385/864, ropev[3,2,2,3,2] = -385/576, ropev[3,2,2,4,1
]1=-385/864, ropev[3,2,3,1,3] = 385/144, ropev[3,2,3,2,2] = 2695/1728, ropev[3,2,3,3,1] = -385/108, ropev[3,2,4,1,2] = -\
2695/432, ropev[3,2,4,2,1] = 1925/576, ropev[3,2,5,1,1] = 385/108, ropev[3,3,1,1,4] = -385/72, ropev[3,3,1,2,3] = -385/216,
ropev[3,3,1,3,2] =-5005/1728, ropev[3,3,1,4,1] = 385/72, ropev[3,3,2,1,3] = 385/864, ropev[3,3,2,2,2] = -385/576, ropev[3,
3,2,3,1] = 1925/864, ropev(3,3,3,1,2] = 2695/1728, ropev[3,3,3,2,1] = -385/432, ropev[3,3,4,1,1] = -385/576, ropev[3,4,1,1,
3] = 385/144, ropev[3,4,1,2,2] = 2695/1728, ropev[3,4,1,3,1] = -385/432, ropev[3,4,2,1,2] = 385/864, ropev[3,4,2,2,1] = -\
385/576, ropev[3,4,3,1,1] = -385/864, ropev[3,5,1,1,2] = -385/576, ropev[3,5,1,2,1] = -385/864, ropev[3,5,2,1,1] = -385/
1728, ropev(3,6,1,1,1] = 0, ropev[4,1,1,1,5] = 13475/1728, ropev[4,1,1,2,4] = 9625/1728, ropev[4,1,1,3,3] = -385/576, ropev
[4,1,1,4,2] = 385/54, ropev[4,1,1,5,1] = -27335/1728, ropev[4,1,2,1,4] = -385/192, ropev[4,1,2,2,3] = 2695/1728, ropev[4,1,
2,3,2] = 385/864, ropev[4,1,2,4,1] = -2695/576, ropev[4,1,3,1,3] = 6545/1728, ropev[4,1,3,2,2] = 385/144, ropev[4,1,3,3,1]
=-13475/1728, ropev[4,1,4,1,2] = -6545/432, ropev[4,1,4,2,1] = 15785/1728, ropev[4,1,5,1,1] = 2695/288, ropev[4,2,1,1,4] =
-7315/1728, ropev[4,2,1,2,3] = -385/576, ropev[4,2,1,3,2] = -385/216, ropev[4,2,1,4,1] = 1925/1728, ropev[4,2,2,1,3] = 2695
/1728, ropev[4,2,2,2,2] = 385/864, ropev[4,2,2,3,1] = -385/192, ropev[4,2,3,1,2] = -4235/576, ropev[4,2,3,2,1] = 4235/864,
ropev[4,2,4,1,1] = 8855/1728, ropev[4,3,1,1,3] = -8855/1728, ropev[4,3,1,2,2] = -2695/432, ropev([4,3,1,3,1] = 7315/576,
ropev[4,3,2,1,2] = 2695/288, ropev([4,3,2,2,1] = -6545/1728, ropev[4,3,3,1,1] = -385/108, ropev[4,4,1,1,2] = 14245/1728,



ropev[4,4,1,2,1] = -385/108, ropev[4,4,2,1,1] =-1925/576, ropev[4,5,1,1,1] = -2695/864, ropev[5,1,1,1,4] = -9625/864,
ropev[5,1,1,2,3] = -6545/864, ropev[5,1,1,3,2] = -5005/576, ropev([5,1,1,4,1] = 18095/864, ropev[5,1,2,1,3] = -385/72, ropev
[5,1,2,2,2]1 =-11165/1728, ropev[5,1,2,3,1] = 1925/108, ropev[5,1,3,1,2] = 41195/1728, ropev[5,1,3,2,1] =-1925/144, ropev[
5,1,4,1,11 =-22715/1728, ropev[5,2,1,1,3] = 9625/864, ropev[5,2,1,2,2] = 1925/192, ropev[5,2,1,3,1] =-11935/864, ropev[5,
2,2,1,2] =-5005/864, ropev[5,2,2,2,1] = 1925/1728, ropev[5,2,3,1,1] = 385/288, ropev|[5,3,1,1,2] =-11935/1728, ropev[5,3,1
,2,1] = 385/288, ropev[5,3,2,1,1] = 2695/1728, ropev[5,4,1,1,1] = 385/216, ropev[6,1,1,1,3] = 1925/144, ropev[6,1,1,2,2] =
21175/1728, ropev([6,1,1,3,1] =-7315/432, ropev[6,1,2,1,2] =-11935/1728, ropev[6,1,2,2,1] = 385/288, ropev[6,1,3,1,1] =
2695/1728, ropev([6,2,1,1,2] = -385/48, ropev[6,2,1,2,1] = 2695/1728, ropev[6,2,2,1,1] = 385/216, ropev([6,3,1,1,1] = 385/192
, ropev[7,1,1,1,2] =-15785/1728, ropev[7,1,1,2,1] = 385/216, ropev[7,1,2,1,1] = 385/192, ropev[7,2,1,1,1] = 1925/864,
ropev[8,1,1,1,1] = 4235/1728, ropev[1,1,1,1,1,7] = 385/1728, ropev[1,1,1,1,2,6] = 385/1728, ropev([1,1,1,1,3,5] = 385/1728,
ropev[1,1,1,1,4,4] = 385/1728, ropev[1,1,1,1,5,3] = 385/1728, ropev[1,1,1,1,6,2] = 385/1728, ropev[1,1,1,1,7,1] =-1925/
1728, ropev[1,1,1,2,1,6] = 385/1728, ropev[1,1,1,2,2,5] = 385/1728, ropev[1,1,1,2,3,4] = 385/1728, ropev[1,1,1,2,4,3] = 385
/1728, ropev[1,1,1,2,5,2] = 385/1728, ropev[1,1,1,2,6,1] =-1925/1728, ropev[1,1,1,3,1,5] = 385/1728, ropev[1,1,1,3,2,4] =
385/1728, ropev[1,1,1,3,3,3] = 385/1728, ropev[1,1,1,3,4,2] = 385/1728, ropev[1,1,1,3,5,1] =-1925/1728, ropev([1,1,1,4,1,4]
= 385/1728, ropev[1,1,1,4,2,3] = 385/1728, ropev[1,1,1,4,3,2] = 385/1728, ropev[1,1,1,4,4,1] =-1925/1728, ropev[1,1,1,5,1,
3] =385/1728, ropev[1,1,1,5,2,2] = 385/1728, ropev[1,1,1,5,3,1] =-1925/1728, ropev[1,1,1,6,1,2] = -2695/864, ropev[1,1,1,
6,2,1] = 1925/864, ropev[1,1,1,7,1,1] = 1925/864, ropev[1,1,2,1,1,6] = 385/1728, ropev[1,1,2,1,2,5] = 385/1728, ropev[1,1,2
,1,3,4] = 385/1728, ropev([1,1,2,1,4,3] = 385/1728, ropev[1,1,2,1,5,2] = 385/1728, ropev([1,1,2,1,6,1] =-1925/1728, ropev[1,
1,2,2,1,5] = 385/1728, ropev[1,1,2,2,2,4] = 385/1728, ropev[1,1,2,2,3,3] = 385/1728, ropev[1,1,2,2,4,2] = 385/1728, ropev[1
,1,2,2,5,1]1 =-1925/1728, ropev[1,1,2,3,1,4] = 385/1728, ropev[1,1,2,3,2,3] = 385/1728, ropev[1,1,2,3,3,2] = 385/1728,
ropev[1,1,2,3,4,1] =-1925/1728, ropev[1,1,2,4,1,3] = 385/1728, ropev[1,1,2,4,2,2] = 385/1728, ropev([1,1,2,4,3,1] =-1925/
1728, ropev[1,1,2,5,1,2] = -2695/864, ropev[1,1,2,5,2,1] = 1925/864, ropev[1,1,2,6,1,1] = 1925/864, ropev[1,1,3,1,1,5] =
385/1728, ropev[1,1,3,1,2,4] = 385/1728, ropev[1,1,3,1,3,3] = 385/1728, ropev[1,1,3,1,4,2] = 385/1728, ropev[1,1,3,1,5,1] =
-1925/1728, ropev[1,1,3,2,1,4] = 385/1728, ropev[1,1,3,2,2,3] = 385/1728, ropev[1,1,3,2,3,2] = 385/1728, ropev[1,1,3,2,4,1]
=-1925/1728, ropev[1,1,3,3,1,3] = 385/1728, ropev[1,1,3,3,2,2] = 385/1728, ropev[1,1,3,3,3,1] =-1925/1728, ropev[1,1,3,4,
1,2] =-2695/864, ropev[1,1,3,4,2,1] = 1925/864, ropev[1,1,3,5,1,1] = 1925/864, ropev[1,1,4,1,1,4] = 385/1728, ropev[1,1,4,
1,2,3] = 385/1728, ropev[1,1,4,1,3,2] = 385/1728, ropev[1,1,4,1,4,1] =-1925/1728, ropev([1,1,4,2,1,3] = 385/1728, ropev[1,1
,4,2,2,2] = 385/1728, ropev[1,1,4,2,3,1] =-1925/1728, ropev[1,1,4,3,1,2] = -2695/864, ropev[1,1,4,3,2,1] = 1925/864, ropev
[1,1,4,4,1,1] = 1925/864, ropev[1,1,5,1,1,3] =-7315/1728, ropev[1,1,5,1,2,2] =-7315/1728, ropev[1,1,5,1,3,1] = 13475/1728
, ropev[1,1,5,2,1,2] = 5005/864, ropev[1,1,5,2,2,1] = -1925/864, ropev[1,1,5,3,1,1] = -1925/864, ropev[1,1,6,1,1,2] = 5005/
864, ropev[1,1,6,1,2,1] = -1925/864, ropev[1,1,6,2,1,1] = -1925/864, ropev[1,1,7,1,1,1] =-1925/864, ropev[1,2,1,1,1,6] =
385/1728, ropev[1,2,1,1,2,5] = 385/1728, ropev[1,2,1,1,3,4] = 385/1728, ropev[1,2,1,1,4,3] = 385/1728, ropev[1,2,1,1,5,2] =
385/1728, ropev[1,2,1,1,6,1] =-1925/1728, ropev[1,2,1,2,1,5] = 385/1728, ropev[1,2,1,2,2,4] = 385/1728, ropev[1,2,1,2,3,3]
=385/1728, ropev([1,2,1,2,4,2] = 385/1728, ropev[1,2,1,2,5,1] = -1925/1728, ropev[1,2,1,3,1,4] = 385/1728, ropev[1,2,1,3,2,
3] =385/1728, ropev[1,2,1,3,3,2] = 385/1728, ropev[1,2,1,3,4,1] =-1925/1728, ropev[1,2,1,4,1,3] = 385/1728, ropev[1,2,1,4
,2,2] = 385/1728, ropev[1,2,1,4,3,1] =-1925/1728, ropev[1,2,1,5,1,2] = -2695/864, ropev[1,2,1,5,2,1] = 1925/864, ropev[1,2
,1,6,1,1]1 = 1925/864, ropev[1,2,2,1,1,5] = 385/1728, ropev[1,2,2,1,2,4] = 385/1728, ropev[1,2,2,1,3,3] = 385/1728, ropev[1,
2,2,1,4,2] = 385/1728, ropev[1,2,2,1,5,1] =-1925/1728, ropev[1,2,2,2,1,4] = 385/1728, ropev[1,2,2,2,2,3] = 385/1728, ropev
[1,2,2,2,3,2] = 385/1728, ropev[1,2,2,2,4,1] =-1925/1728, ropev[1,2,2,3,1,3] = 385/1728, ropev[1,2,2,3,2,2] = 385/1728,
ropev([1,2,2,3,3,1] =-1925/1728, ropev[1,2,2,4,1,2] = -2695/864, ropev[1,2,2,4,2,1] = 1925/864, ropev[1,2,2,5,1,1] = 1925/
864, ropev[1,2,3,1,1,4] = 385/1728, ropev[1,2,3,1,2,3] = 385/1728, ropev[1,2,3,1,3,2] = 385/1728, ropev[1,2,3,1,4,1] = -\
1925/1728, ropev[1,2,3,2,1,3] = 385/1728, ropev[1,2,3,2,2,2] = 385/1728, ropev[1,2,3,2,3,1] =-1925/1728, ropev[1,2,3,3,1,2
]1=-2695/864, ropev[1,2,3,3,2,1] = 1925/864, ropev[1,2,3,4,1,1] = 1925/864, ropev[1,2,4,1,1,3] =-7315/1728, ropev[1,2,4,1
,2,2]1 =-7315/1728, ropev([1,2,4,1,3,1] = 13475/1728, ropev[1,2,4,2,1,2] = 5005/864, ropev[1,2,4,2,2,1] = -1925/864, ropev[1
,2,4,3,1,1]1 = -1925/864, ropev[1,2,5,1,1,2] = 5005/864, ropev[1,2,5,1,2,1] = -1925/864, ropev[1,2,5,2,1,1] =-1925/864,
ropev[1,2,6,1,1,1] = -1925/864, ropev[1,3,1,1,1,5] = 385/1728, ropev[1,3,1,1,2,4] = 385/1728, ropev[1,3,1,1,3,3] = 385/1728
, ropev[1,3,1,1,4,2] = 385/1728, ropev[1,3,1,1,5,1] =-1925/1728, ropev[1,3,1,2,1,4] = 385/1728, ropev[1,3,1,2,2,3] = 385/
1728, ropev[1,3,1,2,3,2] = 385/1728, ropev([1,3,1,2,4,1] =-1925/1728, ropev[1,3,1,3,1,3] = 385/1728, ropev[1,3,1,3,2,2] =
385/1728, ropev|[1,3,1,3,3,1] =-1925/1728, ropev[1,3,1,4,1,2] = -2695/864, ropev[1,3,1,4,2,1] = 1925/864, ropev[1,3,1,5,1,1
1=1925/864, ropev([1,3,2,1,1,4] = 385/1728, ropev[1,3,2,1,2,3] = 385/1728, ropev|[1,3,2,1,3,2] = 385/1728, ropev[1,3,2,1,4,
1]1=-1925/1728, ropev[1,3,2,2,1,3] = 385/1728, ropev[1,3,2,2,2,2] = 385/1728, ropev[1,3,2,2,3,1] = -1925/1728, ropev[1,3,2
,3,1,2] =-2695/864, ropev([1,3,2,3,2,1] = 1925/864, ropev[1,3,2,4,1,1] = 1925/864, ropev[1,3,3,1,1,3] =-7315/1728, ropev[1
,3,3,1,2,2]1 =-7315/1728, ropev([1,3,3,1,3,1] = 13475/1728, ropev[1,3,3,2,1,2] = 5005/864, ropev[1,3,3,2,2,1] =-1925/864,
ropev[1,3,3,3,1,1] =-1925/864, ropev[1,3,4,1,1,2] = 5005/864, ropev[1,3,4,1,2,1] =-1925/864, ropev[1,3,4,2,1,1] =-1925/
864, ropev[1,3,5,1,1,1] =-1925/864, ropev[1,4,1,1,1,4] = -2695/864, ropev[1,4,1,1,2,3] = -2695/864, ropev[1,4,1,1,3,2] = -\
2695/864, ropev[1,4,1,1,4,1] = 1925/216, ropev[1,4,1,2,1,3] = -2695/864, ropev[1,4,1,2,2,2] = -2695/864, ropev[1,4,1,2,3,1]
=1925/216, ropev[1,4,1,3,1,2] = 23485/1728, ropev[1,4,1,3,2,1] =-13475/1728, ropev[1,4,1,4,1,1] = -13475/1728, ropev[1,4,
2,1,1,3] = 5005/864, ropev[1,4,2,1,2,2] = 5005/864, ropev([1,4,2,1,3,1] =-1925/216, ropev[1,4,2,2,1,2] = -7315/1728, ropev[
1,4,2,2,2,1] = 1925/1728, ropev[1,4,2,3,1,1] = 1925/1728, ropev[1,4,3,1,1,2] =-7315/1728, ropev[1,4,3,1,2,1] = 1925/1728,
ropev[1,4,3,2,1,1] = 1925/1728, ropev([1,4,4,1,1,1] = 1925/1728, ropev[1,5,1,1,1,3] = 5005/864, ropev[1,5,1,1,2,2] = 5005/
864, ropev[1,5,1,1,3,1] =-1925/216, ropev[1,5,1,2,1,2] =-7315/1728, ropev[1,5,1,2,2,1] = 1925/1728, ropev[1,5,1,3,1,1] =
1925/1728, ropev[1,5,2,1,1,2] =-7315/1728, ropev[1,5,2,1,2,1] = 1925/1728, ropev[1,5,2,2,1,1] = 1925/1728, ropev[1,5,3,1,1
,11=1925/1728, ropev[1,6,1,1,1,2] =-7315/1728, ropev[1,6,1,1,2,1] = 1925/1728, ropev[1,6,1,2,1,1] = 1925/1728, ropev[1,6
,2,1,1,11 = 1925/1728, ropev[1,7,1,1,1,1] = 1925/1728, ropev[2,1,1,1,1,6] = 385/1728, ropev[2,1,1,1,2,5] = 385/1728, ropev[
2,1,1,1,3,4] = 385/1728, ropev([2,1,1,1,4,3] = 385/1728, ropev[2,1,1,1,5,2] = 385/1728, ropev[2,1,1,1,6,1] =-1925/1728,
ropev[2,1,1,2,1,5] = 385/1728, ropev[2,1,1,2,2,4] = 385/1728, ropev[2,1,1,2,3,3] = 385/1728, ropev[2,1,1,2,4,2] = 385/1728,
ropev[2,1,1,2,5,1] =-1925/1728, ropev[2,1,1,3,1,4] = 385/1728, ropev[2,1,1,3,2,3] = 385/1728, ropev[2,1,1,3,3,2] = 385/
1728, ropev([2,1,1,3,4,1] =-1925/1728, ropev[2,1,1,4,1,3] = 385/1728, ropev[2,1,1,4,2,2] = 385/1728, ropev[2,1,1,4,3,1] = -\
1925/1728, ropev[2,1,1,5,1,2] = -2695/864, ropev([2,1,1,5,2,1] = 1925/864, ropev[2,1,1,6,1,1] = 1925/864, ropev[2,1,2,1,1,5]
= 385/1728, ropev[2,1,2,1,2,4] = 385/1728, ropev[2,1,2,1,3,3] = 385/1728, ropev[2,1,2,1,4,2] = 385/1728, ropev[2,1,2,1,5,1]
=-1925/1728, ropev[2,1,2,2,1,4] = 385/1728, ropev[2,1,2,2,2,3] = 385/1728, ropev[2,1,2,2,3,2] = 385/1728, ropev[2,1,2,2,4,
1] =-1925/1728, ropev[2,1,2,3,1,3] = 385/1728, ropev[2,1,2,3,2,2] = 385/1728, ropev[2,1,2,3,3,1] =-1925/1728, ropev[2,1,2
,4,1,2] = -2695/864, ropev[2,1,2,4,2,1] = 1925/864, ropev[2,1,2,5,1,1] = 1925/864, ropev[2,1,3,1,1,4] = 385/1728, ropev[2,1
,3,1,2,3] = 385/1728, ropev[2,1,3,1,3,2] = 385/1728, ropev[2,1,3,1,4,1] =-1925/1728, ropev([2,1,3,2,1,3] = 385/1728, ropev[
2,1,3,2,2,2] = 385/1728, ropev[2,1,3,2,3,1] = -1925/1728, ropev[2,1,3,3,1,2] = -2695/864, ropev[2,1,3,3,2,1] = 1925/864,
ropev[2,1,3,4,1,1] = 1925/864, ropev[2,1,4,1,1,3] =-7315/1728, ropev[2,1,4,1,2,2] =-7315/1728, ropev[2,1,4,1,3,1] = 13475
/1728, ropev[2,1,4,2,1,2] = 5005/864, ropev([2,1,4,2,2,1] =-1925/864, ropev[2,1,4,3,1,1] = -1925/864, ropev[2,1,5,1,1,2] =
5005/864, ropev[2,1,5,1,2,1] = -1925/864, ropev[2,1,5,2,1,1] = -1925/864, ropev[2,1,6,1,1,1] =-1925/864, ropev([2,2,1,1,1,5
1=385/1728, ropev[2,2,1,1,2,4] = 385/1728, ropev[2,2,1,1,3,3] = 385/1728, ropev[2,2,1,1,4,2] = 385/1728, ropev[2,2,1,1,5,



1]1=-1925/1728, ropev[2,2,1,2,1,4] = 385/1728, ropev[2,2,1,2,2,3] = 385/1728, ropev[2,2,1,2,3,2] = 385/1728, ropev([2,2,1,2
,4,1]=-1925/1728, ropev[2,2,1,3,1,3] = 385/1728, ropev[2,2,1,3,2,2] = 385/1728, ropev[2,2,1,3,3,1] =-1925/1728, ropev[2,
2,1,4,1,2] =-2695/864, ropev[2,2,1,4,2,1] = 1925/864, ropev[2,2,1,5,1,1] = 1925/864, ropev[2,2,2,1,1,4] = 385/1728, ropev[
2,2,2,1,2,3]1 = 385/1728, ropev[2,2,2,1,3,2] = 385/1728, ropev[2,2,2,1,4,1] =-1925/1728, ropev[2,2,2,2,1,3] = 385/1728,
ropev[2,2,2,2,2,2] = 385/1728, ropev[2,2,2,2,3,1] = -1925/1728, ropev[2,2,2,3,1,2] = -2695/864, ropev[2,2,2,3,2,1] = 1925/
864, ropev[2,2,2,4,1,1] = 1925/864, ropev([2,2,3,1,1,3] =-7315/1728, ropev([2,2,3,1,2,2] =-7315/1728, ropev[2,2,3,1,3,1] =
13475/1728, ropev[2,2,3,2,1,2] = 5005/864, ropev[2,2,3,2,2,1] = -1925/864, ropev([2,2,3,3,1,1] = -1925/864, ropev[2,2,4,1,1,
2] = 5005/864, ropev([2,2,4,1,2,1] =-1925/864, ropev[2,2,4,2,1,1] =-1925/864, ropev([2,2,5,1,1,1] = -1925/864, ropev[2,3,1,
1,1,4] = -2695/864, ropev[2,3,1,1,2,3] = -2695/864, ropev[2,3,1,1,3,2] = -2695/864, ropev[2,3,1,1,4,1] = 1925/216, ropev[2,
3,1,2,1,3]1 =-2695/864, ropev[2,3,1,2,2,2] = -2695/864, ropev[2,3,1,2,3,1] = 1925/216, ropev[2,3,1,3,1,2] = 23485/1728,
ropev[2,3,1,3,2,1] =-13475/1728, ropev[2,3,1,4,1,1] = -13475/1728, ropev[2,3,2,1,1,3] = 5005/864, ropev(2,3,2,1,2,2] =
5005/864, ropev[2,3,2,1,3,1] =-1925/216, ropev[2,3,2,2,1,2] =-7315/1728, ropev[2,3,2,2,2,1] = 1925/1728, ropev[2,3,2,3,1,
11=1925/1728, ropev([2,3,3,1,1,2] =-7315/1728, ropev[2,3,3,1,2,1] = 1925/1728, ropev[2,3,3,2,1,1] = 1925/1728, ropev[2,3,
4,1,1,11 = 1925/1728, ropev[2,4,1,1,1,3] = 5005/864, ropev([2,4,1,1,2,2] = 5005/864, ropev[2,4,1,1,3,1] =-1925/216, ropev[2
,4,1,2,1,2]1 =-7315/1728, ropev[2,4,1,2,2,1] = 1925/1728, ropev[2,4,1,3,1,1] = 1925/1728, ropev[2,4,2,1,1,2] =-7315/1728,
ropev[2,4,2,1,2,1] = 1925/1728, ropev[2,4,2,2,1,1] = 1925/1728, ropev[2,4,3,1,1,1] = 1925/1728, ropev[2,5,1,1,1,2] =-7315/
1728, ropev([2,5,1,1,2,1] = 1925/1728, ropev[2,5,1,2,1,1] = 1925/1728, ropev([2,5,2,1,1,1] = 1925/1728, ropev([2,6,1,1,1,1] =
1925/1728, ropev[3,1,1,1,1,5] = -1925/1728, ropev(3,1,1,1,2,4] =-1925/1728, ropev[3,1,1,1,3,3] = -1925/1728, ropev[3,1,1,1
,4,2] =-1925/1728, ropev([3,1,1,1,5,1]1 = 7315/1728, ropev[3,1,1,2,1,4] =-1925/1728, ropev[3,1,1,2,2,3] =-1925/1728, ropev
[3,1,1,2,3,2] =-1925/1728, ropev[3,1,1,2,4,1] = 7315/1728, ropev[3,1,1,3,1,3] =-1925/1728, ropev[3,1,1,3,2,2] =-1925/
1728, ropev(3,1,1,3,3,1] = 7315/1728, ropev(3,1,1,4,1,2] = 1925/216, ropev(3,1,1,4,2,1] = -5005/864, ropev[3,1,1,5,1,1] = -\
5005/864, ropev[3,1,2,1,1,4] =-1925/1728, ropev[3,1,2,1,2,3] =-1925/1728, ropev[3,1,2,1,3,2] =-1925/1728, ropev[3,1,2,1,
4,11=7315/1728, ropev[3,1,2,2,1,3] =-1925/1728, ropev[3,1,2,2,2,2] =-1925/1728, ropev[3,1,2,2,3,1] = 7315/1728, ropev[3
,1,2,3,1,2]1 = 1925/216, ropev[3,1,2,3,2,1] = -5005/864, ropev[3,1,2,4,1,1] = -5005/864, ropev[3,1,3,1,1,3] = 13475/1728,
ropev[3,1,3,1,2,2] = 13475/1728, ropev[3,1,3,1,3,1] = -23485/1728, ropev[3,1,3,2,1,2] =-1925/216, ropev[3,1,3,2,2,1] =
2695/864, ropev[3,1,3,3,1,1] = 2695/864, ropev[3,1,4,1,1,2] =-1925/216, ropev[3,1,4,1,2,1] = 2695/864, ropev[3,1,4,2,1,1]
= 2695/864, ropev[3,1,5,1,1,1] = 2695/864, ropev[3,2,1,1,1,4] = 1925/864, ropev[3,2,1,1,2,3] = 1925/864, ropev[3,2,1,1,3,2]
=1925/864, ropev[3,2,1,1,4,1] = -5005/864, ropev[3,2,1,2,1,3] = 1925/864, ropev[3,2,1,2,2,2] = 1925/864, ropev[3,2,1,2,3,1
=-5005/864, ropev[3,2,1,3,1,2] =-13475/1728, ropev[3,2,1,3,2,1] = 7315/1728, ropev[3,2,1,4,1,1] = 7315/1728, ropev[3,2,
2,1,1,3]1 =-1925/864, ropev[3,2,2,1,2,2] = -1925/864, ropev[3,2,2,1,3,1] = 2695/864, ropev[3,2,2,2,1,2] = 1925/1728, ropev[
3,2,2,2,2,1]1 = -385/1728, ropev[3,2,2,3,1,1] = -385/1728, ropev[3,2,3,1,1,2] = 1925/1728, ropev[3,2,3,1,2,1] =-385/1728,
ropev[3,2,3,2,1,1] = -385/1728, ropev[3,2,4,1,1,1] = -385/1728, ropev[3,3,1,1,1,3] =-1925/864, ropev[3,3,1,1,2,2] =-1925/
864, ropev[3,3,1,1,3,1] = 2695/864, ropev[3,3,1,2,1,2] = 1925/1728, ropev[3,3,1,2,2,1] =-385/1728, ropev[3,3,1,3,1,1] = -\
385/1728, ropev([3,3,2,1,1,2] = 1925/1728, ropev[3,3,2,1,2,1] = -385/1728, ropev[3,3,2,2,1,1] = -385/1728, ropev[3,3,3,1,1,1
1=-385/1728, ropev[3,4,1,1,1,2] = 1925/1728, ropev([3,4,1,1,2,1] = -385/1728, ropev[3,4,1,2,1,1] = -385/1728, ropev[3,4,2,
1,1,1]1 = -385/1728, ropev[3,5,1,1,1,1] = -385/1728, ropev[4,1,1,1,1,4] = 1925/864, ropev[4,1,1,1,2,3] = 1925/864, ropev[4,1
,1,1,3,2] = 1925/864, ropev[4,1,1,1,4,1] = -5005/864, ropev([4,1,1,2,1,3] = 1925/864, ropev[4,1,1,2,2,2] = 1925/864, ropev[4
,1,1,2,3,1]1 = -5005/864, ropev[4,1,1,3,1,2] = -13475/1728, ropev[4,1,1,3,2,1] = 7315/1728, ropev[4,1,1,4,1,1] = 7315/1728,
ropev[4,1,2,1,1,3] = -1925/864, ropev[4,1,2,1,2,2] = -1925/864, ropev[4,1,2,1,3,1] = 2695/864, ropev[4,1,2,2,1,2] = 1925/
1728, ropev[4,1,2,2,2,1] = -385/1728, ropev[4,1,2,3,1,1] = -385/1728, ropev([4,1,3,1,1,2] = 1925/1728, ropev[4,1,3,1,2,1] =
-385/1728, ropev[4,1,3,2,1,1] = -385/1728, ropev[4,1,4,1,1,1] = -385/1728, ropev[4,2,1,1,1,3] =-1925/864, ropev[4,2,1,1,2,
2] =-1925/864, ropev[4,2,1,1,3,1] = 2695/864, ropev[4,2,1,2,1,2] = 1925/1728, ropev[4,2,1,2,2,1] = -385/1728, ropev([4,2,1,
3,1,1] =-385/1728, ropev[4,2,2,1,1,2] = 1925/1728, ropev[4,2,2,1,2,1] =-385/1728, ropev[4,2,2,2,1,1] = -385/1728, ropev[4
,2,3,1,1,1]1 = -385/1728, ropev[4,3,1,1,1,2] = 1925/1728, ropev[4,3,1,1,2,1] = -385/1728, ropev[4,3,1,2,1,1] = -385/1728,
ropev[4,3,2,1,1,1] = -385/1728, ropev[4,4,1,1,1,1] = -385/1728, ropev[5,1,1,1,1,3] =-1925/864, ropev[5,1,1,1,2,2] =-1925/
864, ropev[5,1,1,1,3,1] = 2695/864, ropev[5,1,1,2,1,2] = 1925/1728, ropev[5,1,1,2,2,1] = -385/1728, ropev[5,1,1,3,1,1] = -\
385/1728, ropev[5,1,2,1,1,2] = 1925/1728, ropev[5,1,2,1,2,1] = -385/1728, ropev[5,1,2,2,1,1] = -385/1728, ropev[5,1,3,1,1,1
1=-385/1728, ropev[5,2,1,1,1,2] = 1925/1728, ropev[5,2,1,1,2,1] = -385/1728, ropev[5,2,1,2,1,1] = -385/1728, ropev([5,2,2,
1,1,1]1 = -385/1728, ropev[5,3,1,1,1,1] = -385/1728, ropev[6,1,1,1,1,2] = 1925/1728, ropev[6,1,1,1,2,1] = -385/1728, ropev[6
,1,1,2,1,1] = -385/1728, ropev[6,1,2,1,1,1] = -385/1728, ropev([6,2,1,1,1,1] = -385/1728, ropev[7,1,1,1,1,1] = -385/1728,
ropev[1,1,1,1,1,1,6] = O, ropev[1,1,1,1,1,2,5] = O, ropev[1,1,1,1,1,3,4] = O, ropev[1,1,1,1,1,4,3] = O, ropev[1,1,1,1,1,5,2
1=0, ropev[1,1,1,1,1,6,1] = O, ropev[1,1,1,1,2,1,5] = O, ropev[1,1,1,1,2,2,4] = O, ropev[1,1,1,1,2,3,3] = O, ropev[1,1,1,
1,2,4,2] = 0, ropev[1,1,1,1,2,5,1] = 0, ropev[1,1,1,1,3,1,4] = O, ropev[1,1,1,1,3,2,3] = O, ropev[1,1,1,1,3,3,2] = O, ropev
[1,1,1,1,3,4,1] = O, ropev([1,1,1,1,4,1,3] = O, ropev[1,1,1,1,4,2,2] = O, ropev[1,1,1,1,4,3,1] = O, ropev[1,1,1,1,5,1,2] = 0
, ropev([1,1,1,1,5,2,1] = O, ropev[1,1,1,1,6,1,1] = O, ropev[1,1,1,2,1,1,5] = O, ropev([1,1,1,2,1,2,4] = O, ropev[1,1,1,2,1,3
,3]1 =0, ropev[1,1,1,2,1,4,2] = O, ropev[1,1,1,2,1,5,1] = O, ropev[1,1,1,2,2,1,4] = O, ropev[1,1,1,2,2,2,3] = O, ropev[1,1,
1,2,2,3,2] = 0, ropev[1,1,1,2,2,4,1] = O, ropev[1,1,1,2,3,1,3] = 0, ropev[1,1,1,2,3,2,2] = O, ropev[1,1,1,2,3,3,1] = O,
ropev[1,1,1,2,4,1,2] = 0, ropev[1,1,1,2,4,2,1] = O, ropev[1,1,1,2,5,1,1] = O, ropev[1,1,1,3,1,1,4] = O, ropev[1,1,1,3,1,2,3
1=0, ropev[1,1,1,3,1,3,2] = O, ropev[1,1,1,3,1,4,1] = O, ropev[1,1,1,3,2,1,3] = O, ropev[1,1,1,3,2,2,2] = O, ropev[1,1,1,
3,2,3,1] = 0, ropev[1,1,1,3,3,1,2] = 0O, ropev([1,1,1,3,3,2,1] = O, ropev[1,1,1,3,4,1,1] = O, ropev[1,1,1,4,1,1,3] = O, ropev
[1,1,1,4,1,2,2] = O, ropev([1,1,1,4,1,3,1] = O, ropev[1,1,1,4,2,1,2] = O, ropev[1,1,1,4,2,2,1] = O, ropev[1,1,1,4,3,1,1] =0
, ropev([1,1,1,5,1,1,2] = O, ropev[1,1,1,5,1,2,1] = O, ropev[1,1,1,5,2,1,1] = O, ropev[1,1,1,6,1,1,1] = O, ropev[1,1,2,1,1,1
,51 =0, ropev[1,1,2,1,1,2,4] = O, ropev[1,1,2,1,1,3,3] = O, ropev([1,1,2,1,1,4,2] = O, ropev[1,1,2,1,1,5,1] = O, ropev[1,1,
2,1,2,1,4] = 0, ropev[1,1,2,1,2,2,3] = O, ropev[1,1,2,1,2,3,2] = O, ropev[1,1,2,1,2,4,1] = O, ropev[1,1,2,1,3,1,3] = O,
ropev[1,1,2,1,3,2,2] = 0, ropev[1,1,2,1,3,3,1] = O, ropev[1,1,2,1,4,1,2] = O, ropev[1,1,2,1,4,2,1] = O, ropev[1,1,2,1,5,1,1
1=0, ropev[1,1,2,2,1,1,4] = 0, ropev[1,1,2,2,1,2,3] = 0, ropev[1,1,2,2,1,3,2] = O, ropev[1,1,2,2,1,4,1] = O, ropev[1,1,2,
2,2,1,3]1 =0, ropev[1,1,2,2,2,2,2] = 0O, ropev[1,1,2,2,2,3,1] = 0, ropev[1,1,2,2,3,1,2] = O, ropev[1,1,2,2,3,2,1] = O, ropev
[1,1,2,2,4,1,1] = O, ropev([1,1,2,3,1,1,3] = 0, ropev[1,1,2,3,1,2,2] = O, ropev[1,1,2,3,1,3,1] = O, ropev[1,1,2,3,2,1,2] = 0
, ropev([1,1,2,3,2,2,1] = 0, ropev[1,1,2,3,3,1,1] = O, ropev[1,1,2,4,1,1,2] = O, ropev[1,1,2,4,1,2,1] = O, ropev[1,1,2,4,2,1
,11=0, ropev[1,1,2,5,1,1,1] = O, ropev[1,1,3,1,1,1,4] = O, ropev[1,1,3,1,1,2,3] = O, ropev[1,1,3,1,1,3,2] = O, ropev[1,1,
3,1,1,4,11 = 0, ropev[1,1,3,1,2,1,3] = O, ropev[1,1,3,1,2,2,2] = O, ropev[1,1,3,1,2,3,1] = O, ropev[1,1,3,1,3,1,2] = O,
ropev[1,1,3,1,3,2,1] = O, ropev[1,1,3,1,4,1,1] = O, ropev[1,1,3,2,1,1,3] = 0, ropev[1,1,3,2,1,2,2] = O, ropev[1,1,3,2,1,3,1
1=0, ropev[1,1,3,2,2,1,2] = O, ropev[1,1,3,2,2,2,1] = 0, ropev[1,1,3,2,3,1,1] = O, ropev[1,1,3,3,1,1,2] = O, ropev[1,1,3,
3,1,2,11 = 0, ropev[1,1,3,3,2,1,1] = O, ropev[1,1,3,4,1,1,1] = O, ropev[1,1,4,1,1,1,3] = O, ropev[1,1,4,1,1,2,2] = O, ropev
[1,1,4,1,1,3,1] = O, ropev([1,1,4,1,2,1,2] = O, ropev[1,1,4,1,2,2,1] = O, ropev[1,1,4,1,3,1,1] = O, ropev[1,1,4,2,1,1,2] = 0
, ropev[1,1,4,2,1,2,1] = O, ropev[1,1,4,2,2,1,1] = O, ropev[1,1,4,3,1,1,1] = O, ropev[1,1,5,1,1,1,2] = O, ropev[1,1,5,1,1,2
,11=0, ropev[1,1,5,1,2,1,1] = 0, ropev[1,1,5,2,1,1,1] = O, ropev[1,1,6,1,1,1,1] = O, ropev[1,2,1,1,1,1,5] = O, ropev[1,2,
1,1,1,2,4] = 0, ropev[1,2,1,1,1,3,3] = O, ropev[1,2,1,1,1,4,2] = O, ropev[1,2,1,1,1,5,1] = O, ropev[1,2,1,1,2,1,4] = O,
ropev[1,2,1,1,2,2,3] = 0, ropev[1,2,1,1,2,3,2] = O, ropev[1,2,1,1,2,4,1] = O, ropev[1,2,1,1,3,1,3] = O, ropev[1,2,1,1,3,2,2



1=0, ropev[1,2,1,1,3,3,1] = O, ropev[1,2,1,1,4,1,2] = O, ropev[1,2,1,1,4,2,1] = O, ropev[1,2,1,1,5,1,1] = O, ropev[1,2,1,
2,1,1,4] = 0, ropev[1,2,1,2,1,2,3] = 0O, ropev([1,2,1,2,1,3,2] = 0, ropev[1,2,1,2,1,4,1] = O, ropev[1,2,1,2,2,1,3] = O, ropev
[1,2,1,2,2,2,2] = 0O, ropev([1,2,1,2,2,3,1] = 0, ropev[1,2,1,2,3,1,2] = O, ropev[1,2,1,2,3,2,1] = 0, ropev[1,2,1,2,4,1,1] =0
, ropev[1,2,1,3,1,1,3] = 0, ropev[1,2,1,3,1,2,2] = O, ropev[1,2,1,3,1,3,1] = O, ropev[1,2,1,3,2,1,2] = O, ropev[1,2,1,3,2,2
,11=0, ropev[1,2,1,3,3,1,1] = O, ropev[1,2,1,4,1,1,2] = O, ropev([1,2,1,4,1,2,1] = O, ropev[1,2,1,4,2,1,1] = O, ropev[1,2,
1,5,1,1,11 = 0, ropev[1,2,2,1,1,1,4] = O, ropev[1,2,2,1,1,2,3] = 0, ropev[1,2,2,1,1,3,2] = O, ropev[1,2,2,1,1,4,1] = O,
ropev[1,2,2,1,2,1,3] = 0, ropev[1,2,2,1,2,2,2] = O, ropev[1,2,2,1,2,3,1] = O, ropev[1,2,2,1,3,1,2] = O, ropev[1,2,2,1,3,2,1
1=0, ropev[1,2,2,1,4,1,1] = O, ropev[1,2,2,2,1,1,3] = 0, ropev[1,2,2,2,1,2,2] = O, ropev[1,2,2,2,1,3,1] = O, ropev[1,2,2,
2,2,1,2] = 0, ropev[1,2,2,2,2,2,1] = 0, ropev[1,2,2,2,3,1,1] = 0, ropev[1,2,2,3,1,1,2] = 0, ropev[1,2,2,3,1,2,1] = O, ropev
[1,2,2,3,2,1,1] = O, ropev[1,2,2,4,1,1,1] = O, ropev[1,2,3,1,1,1,3] = O, ropev[1,2,3,1,1,2,2] = O, ropev[1,2,3,1,1,3,1] = 0
, ropev[1,2,3,1,2,1,2] = 0, ropev[1,2,3,1,2,2,1] = O, ropev[1,2,3,1,3,1,1] = O, ropev[1,2,3,2,1,1,2] = O, ropev[1,2,3,2,1,2
,11=0, ropev[1,2,3,2,2,1,1] = O, ropev[1,2,3,3,1,1,1] = O, ropev([1,2,4,1,1,1,2] = 0, ropev[1,2,4,1,1,2,1] = O, ropev[1,2,
4,1,2,1,11 =0, ropev[1,2,4,2,1,1,1] = O, ropev[1,2,5,1,1,1,1] = O, ropev[1,3,1,1,1,1,4] = O, ropev[1,3,1,1,1,2,3] = O,
ropev[1,3,1,1,1,3,2] = 0O, ropev[1,3,1,1,1,4,1] = O, ropev[1,3,1,1,2,1,3] = O, ropev[1,3,1,1,2,2,2] = O, ropev[1,3,1,1,2,3,1
1=0, ropev[1,3,1,1,3,1,2] = O, ropev[1,3,1,1,3,2,1] = O, ropev[1,3,1,1,4,1,1] = O, ropev[1,3,1,2,1,1,3] = 0, ropev[1,3,1,
2,1,2,2] = 0, ropev[1,3,1,2,1,3,1] = O, ropev[1,3,1,2,2,1,2] = 0, ropev[1,3,1,2,2,2,1] = 0O, ropev[1,3,1,2,3,1,1] = O, ropev
[1,3,1,3,1,1,2] = O, ropev[1,3,1,3,1,2,1] = O, ropev[1,3,1,3,2,1,1] = O, ropev[1,3,1,4,1,1,1] = O, ropev[1,3,2,1,1,1,3] = 0
, ropev([1,3,2,1,1,2,2] = 0, ropev[1,3,2,1,1,3,1] = 0, ropev[1,3,2,1,2,1,2] = O, ropev[1,3,2,1,2,2,1] = O, ropev[1,3,2,1,3,1
,11=0, ropev[1,3,2,2,1,1,2] = 0, ropev[1,3,2,2,1,2,1] = 0, ropev[1,3,2,2,2,1,1] = 0, ropev[1,3,2,3,1,1,1] = O, ropev[1,3,
3,1,1,1,2] = 0, ropev[1,3,3,1,1,2,1] = O, ropev([1,3,3,1,2,1,1] = O, ropev[1,3,3,2,1,1,1] = O, ropev[1,3,4,1,1,1,1] = O,
ropev[1,4,1,1,1,1,3] = O, ropev[1,4,1,1,1,2,2] = O, ropev([1,4,1,1,1,3,1] = O, ropev[1,4,1,1,2,1,2] = O, ropev[1,4,1,1,2,2,1
1=0, ropev[1,4,1,1,3,1,1] = O, ropev[1,4,1,2,1,1,2] = O, ropev[1,4,1,2,1,2,1] = O, ropev[1,4,1,2,2,1,1] = O, ropev[1,4,1,
3,1,1,11 = 0, ropev[1,4,2,1,1,1,2] = O, ropev[1,4,2,1,1,2,1] = O, ropev[1,4,2,1,2,1,1] = O, ropev[1,4,2,2,1,1,1] = O, ropev
[1,4,3,1,1,1,1] = O, ropev[1,5,1,1,1,1,2] = O, ropev[1,5,1,1,1,2,1] = O, ropev[1,5,1,1,2,1,1] = O, ropev[1,5,1,2,1,1,1] = 0
, ropev([1,5,2,1,1,1,1] = 0, ropev[1,6,1,1,1,1,1] = O, ropev[2,1,1,1,1,1,5] = O, ropev([2,1,1,1,1,2,4] = O, ropev[2,1,1,1,1,3
,31 =0, ropev[2,1,1,1,1,4,2] = O, ropev[2,1,1,1,1,5,1] = O, ropev[2,1,1,1,2,1,4] = O, ropev[2,1,1,1,2,2,3] = O, ropev[2,1,
1,1,2,3,2] = 0, ropev[2,1,1,1,2,4,1] = O, ropev[2,1,1,1,3,1,3] = O, ropev[2,1,1,1,3,2,2] = O, ropev[2,1,1,1,3,3,1] = O,
ropev[2,1,1,1,4,1,2] = 0, ropev[2,1,1,1,4,2,1] = O, ropev([2,1,1,1,5,1,1] = O, ropev[2,1,1,2,1,1,4] = O, ropev[2,1,1,2,1,2,3
1=0, ropev[2,1,1,2,1,3,2] = O, ropev[2,1,1,2,1,4,1] = O, ropev[2,1,1,2,2,1,3] = O, ropev[2,1,1,2,2,2,2] = O, ropev[2,1,1,
2,2,3,11 = 0, ropev[2,1,1,2,3,1,2] = O, ropev([2,1,1,2,3,2,1] = O, ropev[2,1,1,2,4,1,1] = O, ropev[2,1,1,3,1,1,3] = O, ropev
[2,1,1,3,1,2,2] = 0O, ropev([2,1,1,3,1,3,1] = O, ropev[2,1,1,3,2,1,2] = O, ropev([2,1,1,3,2,2,1] = O, ropev[2,1,1,3,3,1,1] = 0
, ropev[2,1,1,4,1,1,2] = 0, ropev[2,1,1,4,1,2,1] = O, ropev[2,1,1,4,2,1,1] = O, ropev[2,1,1,5,1,1,1] = O, ropev[2,1,2,1,1,1
,4]1 =0, ropev[2,1,2,1,1,2,3] = O, ropev[2,1,2,1,1,3,2] = O, ropev[2,1,2,1,1,4,1] = O, ropev[2,1,2,1,2,1,3] = O, ropev[2,1,
2,1,2,2,2] = 0, ropev([2,1,2,1,2,3,1] = O, ropev[2,1,2,1,3,1,2] = O, ropev([2,1,2,1,3,2,1] = O, ropev[2,1,2,1,4,1,1] = O,
ropev[2,1,2,2,1,1,3] = 0, ropev[2,1,2,2,1,2,2] = O, ropev([2,1,2,2,1,3,1] = O, ropev[2,1,2,2,2,1,2] = O, ropev[2,1,2,2,2,2,1
1=0, ropev[2,1,2,2,3,1,1] = O, ropev([2,1,2,3,1,1,2] = O, ropev[2,1,2,3,1,2,1] = O, ropev[2,1,2,3,2,1,1] = O, ropev[2,1,2,
4,1,1,1] = 0, ropev[2,1,3,1,1,1,3] = 0O, ropev([2,1,3,1,1,2,2] = 0, ropev[2,1,3,1,1,3,1] = O, ropev[2,1,3,1,2,1,2] = O, ropev
[2,1,3,1,2,2,1] = O, ropev([2,1,3,1,3,1,1] = O, ropev[2,1,3,2,1,1,2] = O, ropev([2,1,3,2,1,2,1] = 0, ropev[2,1,3,2,2,1,1] = 0
, ropev([2,1,3,3,1,1,1] = O, ropev[2,1,4,1,1,1,2] = O, ropev[2,1,4,1,1,2,1] = O, ropev([2,1,4,1,2,1,1] = O, ropev[2,1,4,2,1,1
,11 =0, ropev[2,1,5,1,1,1,1] = O, ropev[2,2,1,1,1,1,4] = O, ropev[2,2,1,1,1,2,3] = O, ropev[2,2,1,1,1,3,2] = O, ropev([2,2,
1,1,1,4,1] = 0, ropev[2,2,1,1,2,1,3] = O, ropev[2,2,1,1,2,2,2] = 0, ropev[2,2,1,1,2,3,1] = O, ropev[2,2,1,1,3,1,2] = O,
ropev[2,2,1,1,3,2,1] = O, ropev[2,2,1,1,4,1,1] = O, ropev[2,2,1,2,1,1,3] = O, ropev[2,2,1,2,1,2,2] = O, ropev[2,2,1,2,1,3,1
1=0, ropev[2,2,1,2,2,1,2] = O, ropev([2,2,1,2,2,2,1] = 0, ropev[2,2,1,2,3,1,1] = O, ropev[2,2,1,3,1,1,2] = O, ropev[2,2,1,
3,1,2,1] = 0, ropev[2,2,1,3,2,1,1] = 0O, ropev([2,2,1,4,1,1,1] = 0, ropev[2,2,2,1,1,1,3] = O, ropev[2,2,2,1,1,2,2] = O, ropev
[2,2,2,1,1,3,1] = O, ropev([2,2,2,1,2,1,2] = O, ropev[2,2,2,1,2,2,1] = O, ropev[2,2,2,1,3,1,1] = O, ropev[2,2,2,2,1,1,2] = 0
, ropev([2,2,2,2,1,2,1] = 0, ropev[2,2,2,2,2,1,1] = O, ropev[2,2,2,3,1,1,1] = O, ropev([2,2,3,1,1,1,2] = O, ropev[2,2,3,1,1,2
,11=0, ropev[2,2,3,1,2,1,1] = O, ropev[2,2,3,2,1,1,1] = O, ropev([2,2,4,1,1,1,1] = O, ropev[2,3,1,1,1,1,3] = O, ropev[2,3,
1,1,1,2,2] = 0, ropev[2,3,1,1,1,3,1] = O, ropev[2,3,1,1,2,1,2] = O, ropev[2,3,1,1,2,2,1] = O, ropev[2,3,1,1,3,1,1] = O,
ropev[2,3,1,2,1,1,2] = 0, ropev[2,3,1,2,1,2,1] = O, ropev([2,3,1,2,2,1,1] = O, ropev[2,3,1,3,1,1,1] = O, ropev[2,3,2,1,1,1,2
1=0, ropev[2,3,2,1,1,2,1] = O, ropev([2,3,2,1,2,1,1] = 0, ropev[2,3,2,2,1,1,1] = O, ropev[2,3,3,1,1,1,1] = O, ropev[2,4,1,
1,1,1,2] = 0, ropev[2,4,1,1,1,2,1] = O, ropev[2,4,1,1,2,1,1] = O, ropev[2,4,1,2,1,1,1] = O, ropev([2,4,2,1,1,1,1] = O, ropev
[2,5,1,1,1,1,1] = O, ropev[3,1,1,1,1,1,4] = O, ropev[3,1,1,1,1,2,3] = O, ropev[3,1,1,1,1,3,2] = O, ropev[3,1,1,1,1,4,1] = 0
, ropev(3,1,1,1,2,1,3] = 0, ropev[3,1,1,1,2,2,2] = O, ropev[3,1,1,1,2,3,1] = 0, ropev[3,1,1,1,3,1,2] = O, ropev[3,1,1,1,3,2
,11 =0, ropev[3,1,1,1,4,1,1] = O, ropev[3,1,1,2,1,1,3] = O, ropev[3,1,1,2,1,2,2] = 0, ropev[3,1,1,2,1,3,1] = O, ropev[3,1,
1,2,2,1,2] = 0, ropev[3,1,1,2,2,2,1] = O, ropev[3,1,1,2,3,1,1] = O, ropev[3,1,1,3,1,1,2] = O, ropev[3,1,1,3,1,2,1] = O,
ropev([3,1,1,3,2,1,1] = O, ropev(3,1,1,4,1,1,1] = O, ropev[3,1,2,1,1,1,3] = O, ropev[3,1,2,1,1,2,2] = O, ropev[3,1,2,1,1,3,1
1 =0, ropev[3,1,2,1,2,1,2] = 0O, ropev[3,1,2,1,2,2,1] = 0, ropev[3,1,2,1,3,1,1] = O, ropev[3,1,2,2,1,1,2] = 0, ropev[3,1,2,
2,1,2,11 = 0, ropev[3,1,2,2,2,1,1] = 0O, ropev[3,1,2,3,1,1,1] = O, ropev[3,1,3,1,1,1,2] = O, ropev[3,1,3,1,1,2,1] = O, ropev
[3,1,3,1,2,1,1] = O, ropev[3,1,3,2,1,1,1] = O, ropev[3,1,4,1,1,1,1] = O, ropev[3,2,1,1,1,1,3] = O, ropev[3,2,1,1,1,2,2] = 0
, ropev(3,2,1,1,1,3,1] = 0, ropev[3,2,1,1,2,1,2] = O, ropev[3,2,1,1,2,2,1] = O, ropev[3,2,1,1,3,1,1] = 0, ropev[3,2,1,2,1,1
,2] = 0, ropev[3,2,1,2,1,2,1] = 0, ropev[3,2,1,2,2,1,1] = O, ropev[3,2,1,3,1,1,1] = 0, ropev[3,2,2,1,1,1,2] = 0O, ropev[3,2,
2,1,1,2,11 = 0, ropev[3,2,2,1,2,1,1] = O, ropev([3,2,2,2,1,1,1] = O, ropev[3,2,3,1,1,1,1] = O, ropev[3,3,1,1,1,1,2] = O,
ropev([3,3,1,1,1,2,1] = 0, ropev[3,3,1,1,2,1,1] = O, ropev[3,3,1,2,1,1,1] = 0, ropev[3,3,2,1,1,1,1] = O, ropev[3,4,1,1,1,1,1
1 =0, ropev[4,1,1,1,1,1,3] = O, ropev[4,1,1,1,1,2,2] = O, ropev[4,1,1,1,1,3,1] = O, ropev[4,1,1,1,2,1,2] = O, ropev[4,1,1,
1,2,2,1] = 0, ropev[4,1,1,1,3,1,1] = O, ropev[4,1,1,2,1,1,2] = O, ropev[4,1,1,2,1,2,1] = O, ropev[4,1,1,2,2,1,1] = O, ropev
[4,1,1,3,1,1,1] = O, ropev([4,1,2,1,1,1,2] = O, ropev[4,1,2,1,1,2,1] = O, ropev([4,1,2,1,2,1,1] = O, ropev[4,1,2,2,1,1,1] = 0
, ropev([4,1,3,1,1,1,1] = 0, ropev[4,2,1,1,1,1,2] = O, ropev[4,2,1,1,1,2,1] = O, ropev[4,2,1,1,2,1,1] = O, ropev[4,2,1,2,1,1
,11 =0, ropev[4,2,2,1,1,1,1] = O, ropev[4,3,1,1,1,1,1] = O, ropev[5,1,1,1,1,1,2] = O, ropev[5,1,1,1,1,2,1] = O, ropev[5,1,
1,1,2,1,1] = 0, ropev([5,1,1,2,1,1,1] = O, ropev[5,1,2,1,1,1,1] = O, ropev[5,2,1,1,1,1,1] = O, ropev[6,1,1,1,1,1,1] = O,
ropev[1,1,1,1,1,1,1,5] = O, ropev[1,1,1,1,1,1,2,4] = O, ropev[1,1,1,1,1,1,3,3] = O, ropev[1,1,1,1,1,1,4,2] = O, ropev[1,1,1
,1,1,1,5,1] = 0, ropev[1,1,1,1,1,2,1,4] = O, ropev[1,1,1,1,1,2,2,3] = O, ropev[1,1,1,1,1,2,3,2] = O, ropev[1,1,1,1,1,2,4,1]
=0, ropev[1,1,1,1,1,3,1,3] = O, ropev([1,1,1,1,1,3,2,2] = O, ropev([1,1,1,1,1,3,3,1] = O, ropev([1,1,1,1,1,4,1,2] = O, ropev[
1,1,1,1,1,4,2,11 = 0, ropev[1,1,1,1,1,5,1,1] = O, ropev[1,1,1,1,2,1,1,4] = O, ropev[1,1,1,1,2,1,2,3] = O, ropev[1,1,1,1,2,1
,3,2] = 0, ropev([1,1,1,1,2,1,4,1] = O, ropev[1,1,1,1,2,2,1,3] = O, ropev([1,1,1,1,2,2,2,2] = O, ropev[1,1,1,1,2,2,3,1] = O,
ropev[1,1,1,1,2,3,1,2] = O, ropev[1,1,1,1,2,3,2,1] = O, ropev[1,1,1,1,2,4,1,1] = O, ropev[1,1,1,1,3,1,1,3] = O, ropev[1,1,1
,1,3,1,2,2] = 0, ropev[1,1,1,1,3,1,3,1] = O, ropev[1,1,1,1,3,2,1,2] = O, ropev[1,1,1,1,3,2,2,1] = O, ropev[1,1,1,1,3,3,1,1]
=0, ropev[1,1,1,1,4,1,1,2] = O, ropev[1,1,1,1,4,1,2,1] = O, ropev[1,1,1,1,4,2,1,1] = O, ropev[1,1,1,1,5,1,1,1] = O, ropev[
1,1,1,2,1,1,1,4] = 0, ropev[1,1,1,2,1,1,2,3] = O, ropev[1,1,1,2,1,1,3,2] = O, ropev[1,1,1,2,1,1,4,1] = O, ropev[1,1,1,2,1,2
,1,3] =0, ropev([1,1,1,2,1,2,2,2] = 0, ropev([1,1,1,2,1,2,3,1] = O, ropev([1,1,1,2,1,3,1,2] = O, ropev[1,1,1,2,1,3,2,1] = O,



ropev[1,1,1,2,1,4,1,1] = O, ropev[1,1,1,2,2,1,1,3] = O, ropev[1,1,1,2,2,1,2,2] = O, ropev[1,1,1,2,2,1,3,1] = O, ropev[1,1,1
,2,2,2,1,2] = 0, ropev([1,1,1,2,2,2,2,1] = 0, ropev[1,1,1,2,2,3,1,1] = O, ropev[1,1,1,2,3,1,1,2] = O, ropev[1,1,1,2,3,1,2,1]
=0, ropev[1,1,1,2,3,2,1,1] = O, ropev[1,1,1,2,4,1,1,1] = O, ropev[1,1,1,3,1,1,1,3] = O, ropev[1,1,1,3,1,1,2,2] = O, ropev[
1,1,1,3,1,1,3,11 = 0, ropev[1,1,1,3,1,2,1,2] = O, ropev[1,1,1,3,1,2,2,1] = O, ropev[1,1,1,3,1,3,1,1] = O, ropev[1,1,1,3,2,1
,1,2] = 0, ropev([1,1,1,3,2,1,2,1] = O, ropev([1,1,1,3,2,2,1,1] = O, ropev([1,1,1,3,3,1,1,1] = O, ropev([1,1,1,4,1,1,1,2] = O,
ropev[1,1,1,4,1,1,2,1] = 0, ropev[1,1,1,4,1,2,1,1] = O, ropev[1,1,1,4,2,1,1,1] = O, ropev[1,1,1,5,1,1,1,1] = O, ropev[1,1,2
,1,1,1,1,4] = 0, ropev[1,1,2,1,1,1,2,3] = O, ropev[1,1,2,1,1,1,3,2] = O, ropev[1,1,2,1,1,1,4,1] = O, ropev[1,1,2,1,1,2,1,3]
=0, ropev[1,1,2,1,1,2,2,2] = O, ropev[1,1,2,1,1,2,3,1] = O, ropev[1,1,2,1,1,3,1,2] = O, ropev[1,1,2,1,1,3,2,1] = O, ropev[
1,1,2,1,1,4,1,11 = 0, ropev[1,1,2,1,2,1,1,3] = O, ropev[1,1,2,1,2,1,2,2] = O, ropev[1,1,2,1,2,1,3,1] = O, ropev[1,1,2,1,2,2
,1,2] = 0, ropev([1,1,2,1,2,2,2,1] = O, ropev[1,1,2,1,2,3,1,1] = O, ropev([1,1,2,1,3,1,1,2] = O, ropev[1,1,2,1,3,1,2,1] = O,
ropev[1,1,2,1,3,2,1,1] = O, ropev[1,1,2,1,4,1,1,1] = O, ropev[1,1,2,2,1,1,1,3] = O, ropev[1,1,2,2,1,1,2,2] = O, ropev[1,1,2
,2,1,1,3,11 = 0, ropev[1,1,2,2,1,2,1,2] = 0, ropev[1,1,2,2,1,2,2,1] = O, ropev[1,1,2,2,1,3,1,1] = 0, ropev[1,1,2,2,2,1,1,2]
=0, ropev[1,1,2,2,2,1,2,1] = 0, ropev[1,1,2,2,2,2,1,1] = O, ropev[1,1,2,2,3,1,1,1] = O, ropev[1,1,2,3,1,1,1,2] = O, ropev[
1,1,2,3,1,1,2,11 = 0, ropev[1,1,2,3,1,2,1,1] = O, ropev[1,1,2,3,2,1,1,1] = O, ropev[1,1,2,4,1,1,1,1] = O, ropev[1,1,3,1,1,1
,1,3] =0, ropev([1,1,3,1,1,1,2,2] = O, ropev([1,1,3,1,1,1,3,1] = O, ropev([1,1,3,1,1,2,1,2] = O, ropev[1,1,3,1,1,2,2,1] = O,
ropev[1,1,3,1,1,3,1,1] = 0, ropev[1,1,3,1,2,1,1,2] = O, ropev[1,1,3,1,2,1,2,1] = O, ropev[1,1,3,1,2,2,1,1] = O, ropev[1,1,3
,1,3,1,1,1]1 = 0, ropev[1,1,3,2,1,1,1,2] = O, ropev[1,1,3,2,1,1,2,1] = O, ropev[1,1,3,2,1,2,1,1] = O, ropev[1,1,3,2,2,1,1,1]
=0, ropev[1,1,3,3,1,1,1,1] = O, ropev[1,1,4,1,1,1,1,2] = O, ropev[1,1,4,1,1,1,2,1] = O, ropev([1,1,4,1,1,2,1,1] = O, ropev[
1,1,4,1,2,1,1,11 = 0, ropev|[1,1,4,2,1,1,1,1] = O, ropev[1,1,5,1,1,1,1,1] = O, ropev[1,2,1,1,1,1,1,4] = O, ropev[1,2,1,1,1,1
,2,3] =0, ropev([1,2,1,1,1,1,3,2] = O, ropev[1,2,1,1,1,1,4,1] = O, ropev([1,2,1,1,1,2,1,3] = O, ropev[1,2,1,1,1,2,2,2] = O,
ropev[1,2,1,1,1,2,3,1] = 0, ropev[1,2,1,1,1,3,1,2] = O, ropev[1,2,1,1,1,3,2,1] = O, ropev[1,2,1,1,1,4,1,1] = O, ropev[1,2,1
,1,2,1,1,3] = 0, ropev[1,2,1,1,2,1,2,2] = O, ropev[1,2,1,1,2,1,3,1] = O, ropev[1,2,1,1,2,2,1,2] = O, ropev[1,2,1,1,2,2,2,1]
=0, ropev[1,2,1,1,2,3,1,1] = 0O, ropev[1,2,1,1,3,1,1,2] = O, ropev[1,2,1,1,3,1,2,1] = O, ropev[1,2,1,1,3,2,1,1] = O, ropev[
1,2,1,1,4,1,1,1] = O, ropev[1,2,1,2,1,1,1,3] = O, ropev[1,2,1,2,1,1,2,2] = O, ropev[1,2,1,2,1,1,3,1] = O, ropev[1,2,1,2,1,2
,1,2] = 0, ropev([1,2,1,2,1,2,2,1] = 0, ropev[1,2,1,2,1,3,1,1] = O, ropev([1,2,1,2,2,1,1,2] = O, ropev[1,2,1,2,2,1,2,1] = O,
ropev[1,2,1,2,2,2,1,1] = 0, ropev[1,2,1,2,3,1,1,1] = O, ropev[1,2,1,3,1,1,1,2] = O, ropev[1,2,1,3,1,1,2,1] = O, ropev[1,2,1
,3,1,2,1,1]1 = 0, ropev[1,2,1,3,2,1,1,1] = O, ropev[1,2,1,4,1,1,1,1] = O, ropev[1,2,2,1,1,1,1,3] = O, ropev[1,2,2,1,1,1,2,2]
=0, ropev[1,2,2,1,1,1,3,1] = O, ropev[1,2,2,1,1,2,1,2] = O, ropev[1,2,2,1,1,2,2,1] = O, ropev[1,2,2,1,1,3,1,1] = O, ropev[
1,2,2,1,2,1,1,2] = 0, ropev[1,2,2,1,2,1,2,1] = 0, ropev[1,2,2,1,2,2,1,1] = O, ropev[1,2,2,1,3,1,1,1] = O, ropev[1,2,2,2,1,1
,1,2] = 0, ropev([1,2,2,2,1,1,2,1] = O, ropev[1,2,2,2,1,2,1,1] = O, ropev[1,2,2,2,2,1,1,1] = O, ropev[1,2,2,3,1,1,1,1] = O,
ropev[1,2,3,1,1,1,1,2] = 0, ropev[1,2,3,1,1,1,2,1] = O, ropev[1,2,3,1,1,2,1,1] = O, ropev[1,2,3,1,2,1,1,1] = O, ropev[1,2,3
,2,1,1,1,1] = 0, ropev[1,2,4,1,1,1,1,1] = O, ropev[1,3,1,1,1,1,1,3] = O, ropev[1,3,1,1,1,1,2,2] = O, ropev[1,3,1,1,1,1,3,1]
=0, ropev[1,3,1,1,1,2,1,2] = O, ropev[1,3,1,1,1,2,2,1] = O, ropev[1,3,1,1,1,3,1,1] = O, ropev[1,3,1,1,2,1,1,2] = O, ropev[
1,3,1,1,2,1,2,11 = 0, ropev[1,3,1,1,2,2,1,1] = O, ropev[1,3,1,1,3,1,1,1] = O, ropev([1,3,1,2,1,1,1,2] = O, ropev[1,3,1,2,1,1
,2,11 =0, ropev[1,3,1,2,1,2,1,1] = 0, ropev[1,3,1,2,2,1,1,1] = O, ropev[1,3,1,3,1,1,1,1] = O, ropev[1,3,2,1,1,1,1,2] = O,
ropev[1,3,2,1,1,1,2,1] = 0, ropev[1,3,2,1,1,2,1,1] = O, ropev[1,3,2,1,2,1,1,1] = O, ropev[1,3,2,2,1,1,1,1] = O, ropev[1,3,3
,1,1,1,1,1] = 0, ropev[1,4,1,1,1,1,1,2] = O, ropev[1,4,1,1,1,1,2,1] = O, ropev[1,4,1,1,1,2,1,1] = O, ropev[1,4,1,1,2,1,1,1]
=0, ropev[1,4,1,2,1,1,1,1] = 0O, ropev[1,4,2,1,1,1,1,1] = O, ropev[1,5,1,1,1,1,1,1] = O, ropev([2,1,1,1,1,1,1,4] = O, ropev[
2,1,1,1,1,1,2,3] = 0, ropev([2,1,1,1,1,1,3,2] = O, ropev([2,1,1,1,1,1,4,1] = O, ropev[2,1,1,1,1,2,1,3] = O, ropev[2,1,1,1,1,2
,2,2] = 0, ropev[2,1,1,1,1,2,3,1] = O, ropev([2,1,1,1,1,3,1,2] = O, ropev([2,1,1,1,1,3,2,1] = O, ropev[2,1,1,1,1,4,1,1] = O,
ropev[2,1,1,1,2,1,1,3] = 0, ropev[2,1,1,1,2,1,2,2] = O, ropev[2,1,1,1,2,1,3,1] = 0, ropev[2,1,1,1,2,2,1,2] = O, ropev[2,1,1
,1,2,2,2,1] = 0, ropev[2,1,1,1,2,3,1,1] = O, ropev[2,1,1,1,3,1,1,2] = O, ropev[2,1,1,1,3,1,2,1] = O, ropev[2,1,1,1,3,2,1,1]
=0, ropev[2,1,1,1,4,1,1,1] = O, ropev[2,1,1,2,1,1,1,3] = O, ropev([2,1,1,2,1,1,2,2] = O, ropev([2,1,1,2,1,1,3,1] = O, ropev[
2,1,1,2,1,2,1,2] = 0, ropev[2,1,1,2,1,2,2,1] = O, ropev[2,1,1,2,1,3,1,1] = O, ropev[2,1,1,2,2,1,1,2] = O, ropev[2,1,1,2,2,1
,2,11 =0, ropev([2,1,1,2,2,2,1,1] = O, ropev([2,1,1,2,3,1,1,1] = O, ropev([2,1,1,3,1,1,1,2] = O, ropev[2,1,1,3,1,1,2,1] = O,
ropev[2,1,1,3,1,2,1,1] = O, ropev[2,1,1,3,2,1,1,1] = O, ropev[2,1,1,4,1,1,1,1] = O, ropev[2,1,2,1,1,1,1,3] = O, ropev[2,1,2
,1,1,1,2,2] = 0, ropev([2,1,2,1,1,1,3,1] = 0, ropev[2,1,2,1,1,2,1,2] = O, ropev[2,1,2,1,1,2,2,1] = O, ropev[2,1,2,1,1,3,1,1]
=0, ropev[2,1,2,1,2,1,1,2] = O, ropev[2,1,2,1,2,1,2,1] = O, ropev[2,1,2,1,2,2,1,1] = O, ropev([2,1,2,1,3,1,1,1] = O, ropev[
2,1,2,2,1,1,1,2] = 0, ropev([2,1,2,2,1,1,2,1] = O, ropev([2,1,2,2,1,2,1,1] = O, ropev([2,1,2,2,2,1,1,1] = O, ropev([2,1,2,3,1,1
,1,1]1 =0, ropev([2,1,3,1,1,1,1,2] = O, ropev([2,1,3,1,1,1,2,1] = O, ropev(2,1,3,1,1,2,1,1] = O, ropev([2,1,3,1,2,1,1,1] = O,
ropev[2,1,3,2,1,1,1,1] = O, ropev[2,1,4,1,1,1,1,1] = O, ropev[2,2,1,1,1,1,1,3] = O, ropev[2,2,1,1,1,1,2,2] = O, ropev[2,2,1
,1,1,1,3,1] = 0, ropev[2,2,1,1,1,2,1,2] = O, ropev[2,2,1,1,1,2,2,1] = O, ropev[2,2,1,1,1,3,1,1] = O, ropev[2,2,1,1,2,1,1,2]
=0, ropev[2,2,1,1,2,1,2,1] = 0, ropev([2,2,1,1,2,2,1,1] = O, ropev([2,2,1,1,3,1,1,1] = O, ropev([2,2,1,2,1,1,1,2] = O, ropev[
2,2,1,2,1,1,2,1] = 0, ropev([2,2,1,2,1,2,1,1] = 0, ropev([2,2,1,2,2,1,1,1] = O, ropev([2,2,1,3,1,1,1,1] = O, ropev([2,2,2,1,1,1
,1,2] = 0, ropev([2,2,2,1,1,1,2,1] = O, ropev([2,2,2,1,1,2,1,1] = O, ropev([2,2,2,1,2,1,1,1] = O, ropev[2,2,2,2,1,1,1,1] = O,
ropev([2,2,3,1,1,1,1,1] = O, ropev(2,3,1,1,1,1,1,2] = O, ropev[2,3,1,1,1,1,2,1] = O, ropev[2,3,1,1,1,2,1,1] = O, ropev[2,3,1
,1,2,1,1,11 = 0, ropev[2,3,1,2,1,1,1,1] = 0, ropev[2,3,2,1,1,1,1,1] = O, ropev[2,4,1,1,1,1,1,1] = O, ropev[3,1,1,1,1,1,1,3]
=0, ropev[3,1,1,1,1,1,2,2] = O, ropev[3,1,1,1,1,1,3,1] = O, ropev[3,1,1,1,1,2,1,2] = O, ropev[3,1,1,1,1,2,2,1] = O, ropev[
3,1,1,1,1,3,1,1] = O, ropev(3,1,1,1,2,1,1,2] = O, ropev(3,1,1,1,2,1,2,1] = O, ropev(3,1,1,1,2,2,1,1] = O, ropev[3,1,1,1,3,1
,1,1]1 = 0, ropev(3,1,1,2,1,1,1,2] = 0O, ropev(3,1,1,2,1,1,2,1] = O, ropev(3,1,1,2,1,2,1,1] = O, ropev[3,1,1,2,2,1,1,1] = O,
ropev[3,1,1,3,1,1,1,1]1 = O, ropev[3,1,2,1,1,1,1,2] = O, ropev[3,1,2,1,1,1,2,1] = O, ropev[3,1,2,1,1,2,1,1] = O, ropev[3,1,2
,1,2,1,1,1] = 0, ropev[3,1,2,2,1,1,1,1] = O, ropev[3,1,3,1,1,1,1,1] = O, ropev[3,2,1,1,1,1,1,2] = O, ropev[3,2,1,1,1,1,2,1]
=0, ropev[3,2,1,1,1,2,1,1] = O, ropev[3,2,1,1,2,1,1,1] = O, ropev[3,2,1,2,1,1,1,1] = 0, ropev[3,2,2,1,1,1,1,1] = O, ropev[
3,3,1,1,1,1,1,11 = O, ropev[4,1,1,1,1,1,1,2] = O, ropev[4,1,1,1,1,1,2,1] = O, ropev[4,1,1,1,1,2,1,1] = O, ropev[4,1,1,1,2,1
,1,11 =0, ropev([4,1,1,2,1,1,1,1] = O, ropev([4,1,2,1,1,1,1,1] = O, ropev([4,2,1,1,1,1,1,1] = O, ropev[5,1,1,1,1,1,1,1] = O,
ropev[1,1,1,1,1,1,1,1,4] = 0, ropev[1,1,1,1,1,1,1,2,3] = O, ropev[1,1,1,1,1,1,1,3,2] = O, ropev[1,1,1,1,1,1,1,4,1] = O,
ropev[1,1,1,1,1,1,2,1,3] = O, ropev[1,1,1,1,1,1,2,2,2] = O, ropev[1,1,1,1,1,1,2,3,1] = O, ropev[1,1,1,1,1,1,3,1,2] = O,
ropev[1,1,1,1,1,1,3,2,1] = O, ropev[1,1,1,1,1,1,4,1,1] = O, ropev[1,1,1,1,1,2,1,1,3] = O, ropev[1,1,1,1,1,2,1,2,2] = O,
ropev[1,1,1,1,1,2,1,3,1] = 0, ropev[1,1,1,1,1,2,2,1,2] = O, ropev[1,1,1,1,1,2,2,2,1] = O, ropev[1,1,1,1,1,2,3,1,1] = O,
ropev[1,1,1,1,1,3,1,1,2] = O, ropev[1,1,1,1,1,3,1,2,1] = O, ropev[1,1,1,1,1,3,2,1,1] = O, ropev[1,1,1,1,1,4,1,1,1] = O,
ropev[1,1,1,1,2,1,1,1,3] = O, ropev[1,1,1,1,2,1,1,2,2] = O, ropev[1,1,1,1,2,1,1,3,1] = O, ropev[1,1,1,1,2,1,2,1,2] = O,
ropev[1,1,1,1,2,1,2,2,1] = O, ropev[1,1,1,1,2,1,3,1,1] = O, ropev[1,1,1,1,2,2,1,1,2] = O, ropev([1,1,1,1,2,2,1,2,1] = O,
ropev[1,1,1,1,2,2,2,1,1] = 0O, ropev[1,1,1,1,2,3,1,1,1] = O, ropev[1,1,1,1,3,1,1,1,2] = O, ropev[1,1,1,1,3,1,1,2,1] = O,
ropev[1,1,1,1,3,1,2,1,1] = O, ropev[1,1,1,1,3,2,1,1,1] = O, ropev[1,1,1,1,4,1,1,1,1] = O, ropev[1,1,1,2,1,1,1,1,3] = O,
ropev[1,1,1,2,1,1,1,2,2] = O, ropev[1,1,1,2,1,1,1,3,1] = O, ropev[1,1,1,2,1,1,2,1,2] = O, ropev[1,1,1,2,1,1,2,2,1] = O,

1=0

1=0

1=0

1=0

ropev[1,1,1,2,1,1,3,1,1] = O, ropev[1,1,1,2,1,2,1,1,2] = O, ropev[1,1,1,2,1,2,1,2,1] = O, ropev[1,1,1,2,1,2,2,1,1] = O,
, ropev([1,1,1,2,2,1,1,2,1] = O, ropev[1,1,1,2,2,1,2,1,1] = O,
, ropev([1,1,1,3,1,1,1,1,2] = O, ropev[1,1,1,3,1,1,1,2,1]1 = O,
, ropev[1,1,1,3,2,1,1,1,1] = O, ropev[1,1,1,4,1,1,1,1,1] = O,

ropev[1,1,1,2,1,3,1,1,1] = O, ropev[1,1,1,2,2,1,1,1,2] =
ropev[1,1,1,2,2,2,1,1,1] = O, ropev[1,1,1,2,3,1,1,1,1
ropev[1,1,1,3,1,1,2,1,1] = O, ropev[1,1,1,3,1,2,1,1,1



ropev[1,1,2,1,1,1,1,1,3] =
ropev[1,1,2,1,1,1,2,2,1] =
ropev[1,1,2,1,1,2,2,1,1] = O.
ropev[1,1,2,1,2,1,2,1,1] =
ropev[1,1,2,2,1,1,1,2,1] =
ropev[1,1,2,3,1,1,1,1,1] =
ropev[1,1,3,1,1,2,1,1,1] =
ropev[1,2,1,1,1,1,1,1,3] =
ropev[1,2,1,1,1,1,2,2,1] =

ropev[2,1,1,1,1,1,2,2,1] =
ropev[2,1,1,1,1,2,2,1,1] =

0,
0,

0,
0,
0,
0,
0,
0,

0,
0,

ropev[1,1,2,1,1,1,1,2,2] =
ropev[1,1,2,1,1,1,3,1,1] =
, ropev[1,1,2,1,1,3,1,1,1] =
ropev[1,1,2,1,2,2,1,1,1] =
ropev[1,1,2,2,1,1,2,1,1] =
ropev[1,1,3,1,1,1,1,1,2] =
ropev[1,1,3,1,2,1,1,1,1] =
ropev[1,2,1,1,1,1,1,2,2] =
ropev[1,2,1,1,1,1,3,1,1] =

ropev[2,1,1,1,1,1,3,1,1] =
ropev[2,1,1,1,1,3,1,1,1] =

0, ropev([1,1,2,1,1,1,1,3,1] = O, ropev[1,1,2,1,1,1,2,1,2] = O,

0,
0,
0,
0,
0,
0,
0,
o,

0,
0,

ropev[1,1,2,1,1,2,1,1,2] = O,
0, ropev([1,1,2,1,2,1,1,2,11 =0
ropev[1,1,2,1,3,1,1,1,1] = 0,
ropev[1,1,2,2,1,2,1,1,1]1 = O,
0, ropev([1,1,3,1,1,1,2,1,11 =0
, ropev[1,1,4,1,1,1,1,1,1]1 = O
, ropev[1,2,1,1,1,1,2,1,2] =

ropev[1,2,1,1,1,2,1,1, 2] =0,

ropev[1,1,2,1,2,1,1,1,2] =

ropev[1,1,3,1,1,1,1,2,1] =

ropev[2,1,1,1,1,2,1,1,2
ropev[2,1,1,1,2,1,1,1,2] =

ropev[1,1,2,1,1,2,1,2,1] = O,

ropev[1,1,2,2,1,1,1,1,2] = O,
ropev[1,1,2,2,2,1,1,1,1] = O,

ropev[1,2,1,1,1,2,1,2,1] = O.

ropev[2,1,1,1,1,2,1,2,1] = O,
ropev[2,1,1,1,2,1,1,2,1] = O,

ropev[1,2,1,1,1,2,2,1,1] = O, ropev[1,2,1,1,1,3,1,1,1] = O, ropev[1,2,1,1,2,1,1,1,2] = O, ropev[1,2,1,1,2,1,1,2,1] = O,
ropev[1,2,1,1,2,1,2,1,1] = 0O, ropev[1,2,1,1,2,2,1,1,1] = O, ropev[1,2,1,1,3,1,1,1,1] = O, ropev[1,2,1,2,1,1,1,1,2] =
ropev[1,2,1,2,1,1,1,2,1] = 0O, ropev[1,2,1,2,1,1,2,1,1] = O, ropev[1,2,1,2,1,2,1,1,1] = O, ropev[1,2,1,2,2,1,1,1,1] = O,
ropev[1,2,1,3,1,1,1,1,1] = O, ropev[1,2,2,1,1,1,1,1,2] = O, ropev[1,2,2,1,1,1,1,2,1] = O, ropev[1,2,2,1,1,1,2,1,1] = O,
ropev[1,2,2,1,1,2,1,1,1] = O, ropev[1,2,2,1,2,1,1,1,1] = O, ropev[1,2,2,2,1,1,1,1,1] = O, ropev[1,2,3,1,1,1,1,1,1] = O,
ropev[1,3,1,1,1,1,1,1,2] = O, ropev[1,3,1,1,1,1,1,2,1] = O, ropev[1,3,1,1,1,1,2,1,1] = O, ropev[1,3,1,1,1,2,1,1,1] = O,
ropev[1,3,1,1,2,1,1,1,1] = O, ropev[1,3,1,2,1,1,1,1,1] = O, ropev[1,3,2,1,1,1,1,1,1] = O, ropev[1,4,1,1,1,1,1,1,1] = O,
ropev[2,1,1,1,1,1,1,1,3] = O, ropev[2,1,1,1,1,1,1,2,2] = O, ropev[2,1,1,1,1,1,1,3,1] = O, ropev[2,1,1,1,1,1,2,1,2] =
1=0,
0,
0,

ropev[2,1,1,1,2,1,2,1,1] =
ropev[2,1,1,2,1,1,1,2,1] =
ropev[2,1,1,3,1,1,1,1,1] =
ropev[2,1,2,1,1,2,1,1,1] =
ropev[2,2,1,1,1,1,1,1,2] =
ropev[2,2,1,1,2,1,1,1,1] =
ropev[3,1,1,1,1,1,1,1,2] =

0,
0,
0,
0,
0,
0

ropev[2,1,1,1,2,2,1,1,1] =
ropev[2,1,1,2,1,1,2,1,1] =
ropev[2,1,2,1,1,1,1,1,2] =
ropev[2,1,2,1,2,1,1,1,1] =
ropev[2,2,1,1,1,1,1,2,1] =
ropev[2,2,1,2,1,1,1,1,1] =

0, ropev[3,1,1,1,1,1,1,2,1] =

0,
0,
0,
0,
0,
o,

ropev[2,1,1,1,3,1,1,1,1] =

ropev[2,1,1,2,1,2,1,1,1]1 = 0,
0, ropev([2,1,2,1,1,1,2,1,1]1 =0
ropev[2,1,2,2,1,1,1,1,1] = 0,
ropev(2,2,1,1,1,1,2,1,1] = 0,
ropev[2,2,2,1,1,1,1,1,1] = 0,
0, ropev[3,1,1,1,1,1,2,1,1] =0

ropev[2,1,2,1,1,1,1,2,1] =

ropev[2,1,1,2,1,1,1,1,2] =
ropev[2,1,1,2,2,1,1,1,1] = O,

ropev[2,1,3,1,1,1,1,1,1] = O,
ropev[2,2,1,1,1,2,1,1,1] =0
ropev[2,3,1,1,1,1,1,1,1] = 0

, ropev[3,1,1,1,1,2,1,1,1]1 = O

ropev[3,1,1,1,2,1,1,1,1] = 0, ropev[3,1,1,2,1,1,1,1,1] = 0, ropev[3,1,2,1,1,1,1,1,1] = 0, ropev[3,2,1,1,1,1,1,1,1]1 = 0

ropev([4,1,1,1,1,1,1,1,1] = 0, ropev[1,1,1,1,1,1,1,1,1,3] = O, ropev[1,1,1,1,1,1,1,1,2,2] = O, ropev[1,1,1,1,1,1,1,1,3,1] =
0, ropev[1,1,1,1,1,1,1,2,1,2] = O, ropev[1,1,1,1,1,1,1,2,2,1] = O, ropev[1,1,1,1,1,1,1,3,1,1] = O, ropev[1,1,1,1,1,1,2,1,1,
2] =0, ropev[1,1,1,1,1,1,2,1,2,1] = O, ropev[1,1,1,1,1,1,2,2,1,1] = O, ropev[1,1,1,1,1,1,3,1,1,1] = O, ropev[1,1,1,1,1,2,1
,1,1,2] = 0, ropev[1,1,1,1,1,2,1,1,2,1] = 0, ropev[1,1,1,1,1,2,1,2,1,1] = O, ropev[1,1,1,1,1,2,2,1,1,1] = O, ropev[1,1,1,1,
1,3,1,1,1,1] = 0, ropev[1,1,1,1,2,1,1,1,1,2] = O, ropev[1,1,1,1,2,1,1,1,2,1] = O, ropev[1,1,1,1,2,1,1,2,1,1] = O, ropev[1,1
,1,1,2,1,2,1,1,1] = 0, ropev[1,1,1,1,2,2,1,1,1,1] = O, ropev[1,1,1,1,3,1,1,1,1,1] = O, ropev[1,1,1,2,1,1,1,1,1,2] =
ropev[1,1,1,2,1,1,1,1,2,1] = O, ropev[1,1,1,2,1,1,1,2,1,1] = O, ropev[1,1,1,2,1,1,2,1,1,1] = O, ropev([1,1,1,2,1,2,1,1,1,1]
=0, ropev[1,1,1,2,2,1,1,1,1,1] = O, ropev[1,1,1,3,1,1,1,1,1,1] = O, ropev[1,1,2,1,1,1,1,1,1,2] = O, ropev[1,1,2,1,1,1,1,1,
2,11 =0, ropev[1,1,2,1,1,1,1,2,1,1] = O, ropev[1,1,2,1,1,1,2,1,1,1] = O, ropev[1,1,2,1,1,2,1,1,1,1] = O, ropev[1,1,2,1,2,1
,1,1,1,11 = 0, ropev([1,1,2,2,1,1,1,1,1,1] = O, ropev[1,1,3,1,1,1,1,1,1,1] = O, ropev[1,2,1,1,1,1,1,1,1,2] = O, ropev[1,2,1,
1,1,1,1,1,2,1] = 0, ropev[1,2,1,1,1,1,1,2,1,1] = O, ropev[1,2,1,1,1,1,2,1,1,1] = O, ropev[1,2,1,1,1,2,1,1,1,1] = O, ropev[1
,2,1,1,2,1,1,1,1,11 = 0, ropev[1,2,1,2,1,1,1,1,1,1] = O, ropev[1,2,2,1,1,1,1,1,1,1] = O, ropev[1,3,1,1,1,1,1,1,1,1] = O
ropev(2,1,1,1,1,1,1,1,1,2] = O, ropev[2,1,1,1,1,1,1,1,2,1] = O, ropev[2,1,1,1,1,1,1,2,1,1] = O, ropev([2,1,1,1,1,1,2,1,1,1]
=0, ropev[2,1,1,1,1,2,1,1,1,1] = 0, ropev[2,1,1,1,2,1,1,1,1,1] = O, ropev[2,1,1,2,1,1,1,1,1,1] = O, ropev([2,1,2,1,1,1,1,1,
1,11 =0, ropev[2,2,1,1,1,1,1,1,1,1] = O, ropev[3,1,1,1,1,1,1,1,1,1] = O, ropev[1,1,1,1,1,1,1,1,1,1,2] = O, ropev[1,1,1,1,1
,1,1,1,1,2,1]1 = 0, ropev[1,1,1,1,1,1,1,1,2,1,1] = O, ropev[1,1,1,1,1,1,1,2,1,1,1] = O, ropev[1,1,1,1,1,1,2,1,1,1,1] = O
ropev[1,1,1,1,1,2,1,1,1,1,1] = O, ropev([1,1,1,1,2,1,1,1,1,1,1] = O, ropev[1,1,1,2,1,1,1,1,1,1,1] = O, ropev([1,1,2,1,1,1,1,1
,1,1,11 =0, ropev[1,2,1,1,1,1,1,1,1,1,1] = O, ropev[2,1,1,1,1,1,1,1,1,1,1] = O, ropev[1,1,1,1,1,1,1,1,1,1,1,1] = O] : ###




